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HEE = AEEENIR HEE = 1.4 1.4 1.4 161 9 70 25 00 31 00 2 1.2 04 00 00 01 01 00 05 0 0 0 60
485 —BEE 4858 C13060 #EEE J BEtE Q12190
HEE = % LEE B/ LR 06 06 06 98 1T 6.0 00 00 25 00 2 0.6 01 00 00 00 00 00 06 1 1 0 50
485 —BEE 4858 013070 —fREE4 3 12 (USA/8% ST 012230
HEE = BEE 5 ARR) AEEEIRIR 25 25 25 100 8 70 00 00 00 00 2 0.0 00 00 00 00 00 00 23 0 13 0 60
485 —EE4 858 C13085 —WEE4 852 —BEEoE 012255
HEE - BEE ~ HEEe S 02 01 01 235 165 130 25 00 35 00 4 001 01 00 00 01 01 00 00 2 0 0 60

17



X MEERSF BE B K % X B R 2 K K F AR .
& & & 5 | BE| 8% i % mE @ BFOE
B - E MK 5% & ¥ ¥ & 5B 5 OE x| 5. " o m e B
° . - e 5 _ _ - - . ;|
@ ] A 2o ow , = ®OE & GE & ® #m & @& Ex & B
Hh b Fo, N B - = B = B P - _ e
B R 2 A E m # &8 &8 _ o = = & . ..FE P '{g = = = = L
* z BGBRES ERBRE S . ug w8 " oE ko ox g oE TE P = R L £ E mg
= = X #M tR B & & & =®A A %A i ® B % moOE ss
E #E #E BEE BEE y L oK
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | (km) | (km) (km) (km) | (km) (km/h)
& 51.7 49.4 39.6 206 45 0.0 3. 0.0 294 13 | 137 0
488 —EE4 882 ¢13090 —REEE A)B B RS 012260
S = REEOS IS B 1.8/ 11.8 11.8 13.3 83 65 00 00 2 0.0 50 02 00 0. 0.0 107 0 21 0 40
. . . Q12270
488 —BEE488E C13100 A5 BES —BEE488E (B
S = A& R RE HEE 5 (88) 30 27 27 85 70 60 00 00 O 0.0 1.3 00 0.0 1. 00 1.3 0 1 0 40 | 012320
488 —BEE488E C13170 —mEE4S S 012280
S = KEE 1.8 1.8 00 50 50 40 00 00 O 0.0 0.0 00 00 0. 00 01 8 17 0 50
488 —BEE488E C13110 —EE 4 B 12280
KEE488% KEE4 88 HERIR 20 1.1 02 107 56 46 00 00 5. 0.0 0.0 0.0 00 0. 00 1.9 0 3 0 0
488 —BEE488E C13120 1148 1148 12270
KEE488% HEE)IR xRl 1.0 08 0.8 125 90 60 00 00 3 0.0 0.2 0.2 00 0. 00 1.0 0 4 0 0
488 —BEE488E C13130 B 12290
KEE488% REB)8R LR 85 85 80 1.2 85 60 00 00 O 0.0 1.6 0.1 0.0 1. 00 85 0 13 0 0
488 —BEE488E C13140 EELRHE 12330
KEE488% RALRS SHER 1.6 09 08 102 90 55 00 00 1. 0.0 0.1 00 00 0. 00 1.6 0 5 0 0
488 —BEE488E C13150 EEIEL ; Q12300
S = ERERR RELRS 04 04 03 82 67 57 00 00 1 0.0 0.3 00 00 0. 00 04 0 2 0 40
488 —BEE4 8 8E C13160 ; B DR Q12310
S = RELRS EBREORE 7.8 31 05 46 30 20 00 00 O 0.0 0.1 00 00 0. 00 00 0 15 0 30
& 47.9 311 251 86 05 00 3. 0.0 255 8 81 0
B &
B SRR M =i 563.0 532.4 494 4 3449 61.3 0.0 101. 8 0.0 353.9 197 1284 0




Nl

ZHh 758

19



X MEERSF R B B H % X B R 2 K K F AR .
2 & &l ® & &l 5 BE BR B% @R @b m®m @ BFOE
B . EORE 5% # K ® b BE 5 BB T o & A A m e xR
ot % R ; B & & = g 2 e = owm om @M
w© b s 5 % & - $ E B AE B 0’ g E | EX =B
§ #h - F oL N B - | B t = & = = & B P - g
% *7? % m &R &R i s ﬁ IE EE _ B =] = % = =
=1 B # = % & & = % L E iE = = =1
& i3 . = = 1B = = | ¥ E E T ¥ ; :
H BRBRAS BERBRES w o Hm BB B ox @\ f g FE R OSE a CE g T e = omy
= s i P & »M t8 A A A A %A A HA 5 = 0 E b R ==
E R EE YFE ER ERE EE Y L o%
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
1 ; N 40010 ERE L DEE = A 40010
BOfEAR RIR L DRE ZRIEXBES 200 20 20 100 7.5 60 00 00 2 0.0 2 1.6 0.3 00 00 00 00 00 00 2 13 0 40 ¢
= 200 20 20 1.6 0.3 00 00 00 00 00 00 2 13 0
2 15 % 40020 —BEE4 3 18 wORATI-IXKRA 040020
SRR BEE = BROER GRS 9.5/ 9.4 7.1 156 10.1 6.0 41 0.0 2 0.0 2 3.00 0.0 00 00 01 00 00 7.3 1 21 0 40
= 9.5/ 9.4 7.1 3.0 00 00 00 01 00 00 7.3 1 21 0
. . Q40030
3 S FNEH S 40030 AOR&LDEE —BREE18 78
AT i L ORE HEE = 21.7| 21.6 17.7 10.6, 7.0 55 0.0 0.0 2 0.0 2 0.5/ 0.0 0.0 00 01 00 00 142 2 39 0 40 | 040040
& 21.7 21.6 17.7 0.5, 0.0 00 00 01 00 00 142 2 39 0
4 # 40040 BLDEE B 40050
TR S EER & ORE B E 50 20 1.6 130 7.5 60 00 00 3. 0.0 2 0.9 0.6 00 00 00 00 00 45 0 17 0 30 ¢
4 # 40050 B BLDEE 40050
TR S Sl EBREORE 0.9 09 03 89 66 45 00 00 2 0.0 1 0.2/ 00 00 00 00 00 00 07 0 6 0 30 ¢
& 59 29 1.9 0.2 00 00 00 00 00 00 07 0 6 0
5 B R4 40060 —BEE 18 68 s s 40060
B/\EE & KEEE1865 B\ B R 9.6/ 9.6 40 100 6.0 50 00 00 2 0.0 1 1.0 00 00 00 09 00 00 96 6 39 0 60 ¢
5 B g 40130 B B s 40150
B/\EAE#E B/\EE & B\ B R 0.2 02 01 63 63 53 00 00 O 0.0 1 0.00 00 00 00 00 00 00 00 0 1 0 50 ¢
5 pis3 R4 40070 3 R 40070
B/\EE & ERRTRERR L 3.00 30 30 105 80 60 00 00 2 0.0 2 1.6 0.1/ 00 00 00 00 00 29 1 15 0 60 ¢
. - . 040080~
5 pi=3 R4 40080 TR B 5] R 45
B/\EA & BILERR TP PR 24.3| 24.3 17.5 12,5/ 1.5 6.0, 0.0 0.0 2. 0.0 2 8.9/ 0.3 00 00 1.1 03 00 222 4 80 0 60 Q40110
5 B s 40090 B 5] 45 E = i 40110
B/\EE & BRANR B - AET & 3.5/ 35 23 125 1.5 60 00 00 2 0.0 2 1.1 01 00 00 00 00 00 35 0 16 0 40 ¢
5 pis3 R4 40100 B = 5 40120
B/\EE & LML Mk R 1.0 1.0/ 0.9 105 80 60 00 00 2 0.0 2 0.7/ 0.2 00 00 00 00 00 10 0 6 0 40 ¢
. Q40120
5 B s 40110 B LD
B/\EA & HRFRR EBREORE 6.2/ 6.2 51 125 7.5 6.0 00 00 2 0.0 2 1.6 0.1 00 00 01 01 00 12 2 12 0 40 | 040130
5 B 4 40120 B —EEE186E2 40140
B/\EA & B\ B KEE1865 0.0 00 00 65 65 55 00 00 O 0.0 2 0.00 00 00 00 00 00 00 00 0 1 0 60 ¢
2 47.8/ 47.8 32.9 0.00 0.0 00 00 00 00 00 00 0 1 0
6 EHEES 40140 =B Y =8 EEE e 040160
= HERR EER & ORE BERES 0.1 01 01 95 95 55 00 20 O 0.0 2 0.00 00 00 00 00 00 00 01 0 1 0 40
- . Q40160
6 THEEHS 40150 EEEES —BEE26 18
= HERR BEEES HEE = 8.7 87 87 130 7.0 60 00 00 3 0.0 2 3.5/ 2.4 0.0 00 00 00 00 87 2 32 0 40 | 040170
& 8.8/ 88 8.8 3.5, 24 00 00 00 00 00 88 2 33 0
7 pis3 1 40160 B T E S 40180
S B\ B ERFE R 52/ 52 52 125 1.5 60 00 00 2 0.0 2 4.4 0.2 00 00 01 01 00 52 1 27 0 60 ¢
. _ Q40180
7 B 1 40170 B = b
S EIRE R B - AR & 2.8/ 2.8 2.8 11.8/ 85 55 00 00 2 0.0 2 0.6/ 0.0 00 00 02 00 00 1.9 0 9 0 50 = Q40190
7 E % 40180 i3 = B =B 40190
S LU RIS 2.8/ 2.8 22 80 65 55 00 00 O 0.0 2 0.6 00 00 00 06 00 00 27 0 10 0 50 o
. s Q40190
7 B # 40190 =B ST
Bt RIS RiLZR 9.1/ 9.1 55 140 7.5 55 00 00 2 0.0 2 2.2/ 0.2 00 00 01 01 00 7.6 1 42 0 40 | 040200
7 B # 40200 SRT RS —BEE26 18 040210
G KL HEE = 41 41 37 1.7 1.5 55 00 00 2 0.0 2 41/ 0.6 00 00 02 02 00 38 1 28 0 60
7 pis3 1 40210 —BEE26 18 —EEES Q40220
S BEE = Caama 6.4 6.4 56 7.0 7.0 55 00 00 O 0.0 2 0.00 00 00 00 00 00 00 00 0 15 0 60
7 B # 40220 R F GE: £ 040230
B Cmani FHRAFATE 7.9 6.8 54 115 80 55 00 0.0 3 0.0 2 0.2 0.1 00 00 00 00 00 27 0 13 0 60

20



X MEERSF R B B H % X B R 2 K K F AR .
2 & &l ® & &l 5 BE BR B% @R @b m®m | @ BFOE
B . EORE 5% # K ® b BE 5 BB T o & A A m e xR
ot % R ; B & & = g S R 1
w@ bl s 5 ® B s S - [T B | A& B ® g g BEBR X
§ #h - F oL N B - | B t = & = = & B P - g
% *7? % m &R &R i s ﬁ IE E = _ B =] =] % = =
I r R *H = % E | B | % L B i = = =
& z ~ z 18 T - 2% BHE “E SE ™ 5E ; .
& BGRRES BEBRLS ® oo Gm B W oo mER & FE | A
2 = E #M tR A & & A =®A A %A y4 T 1 mOE | gs
£E %R ER YFE ER ERE EE Y L o%
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
7 pis3 # 40230 F AR 40240
G FERAFRRSR RS 9.2/ 9.2 83 125 80 60 00 00 25 00 2 3.6 0.3 00 00 03 03 00 81 0 31 0 40 ¢
= 47.5 46.4 38.7 5.7 1.4 00 0.0 1.5 0.7 00 320 3 175 0
9 REHA & 40240 —BEE 9 & o3k R I 40250
RRIAAFEH BEEOS RRRRE 1.5 1.5/ 1.1 98 65 55 00 00 1.5 00 2 1.1 00 00 00 02 00 00 15 3 18 0 40 ¢
- 040260
9 LR A 4 40250 RRARE TRAEA BRER
RRIAAFER RRRR® BRFEARERLE 65 65 58 120 65 55 00 00 30 00 2 32 00 00 00 14 00 00 63 3 28 0 50 040270
9 REHA 4 40260 LRAAA BRE s REIHA BRES 40270
RRIAAFEH BZXEARERLER BRFEARERLER 59 59 59 125 75 60 00 00 25 00 2 53 04 00 00 08 04 00 00 1 2 o 6 O
— - . 040280
9 2 {9 A & 40270 SEAB A B E s G
RRIAAFEH IBZREARERLER HEHER 0.5 9.3 9.3 98 68 55 00 00 1.5 00 2 7.3 0.4 00 00 09 04 00 101 0 39 0 50 = 040290
9 REHA & 40280 % 4 ERELDELE 40290
RRIAAFER EHRER RIUR L DRE 2.1/ 0.2 00 52 52 42 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 6 0 60 ¢
& 26.5 23.4 22.1 16.9 0.8 00 00 33 08 00 17.9 7 120 0
11 B A N4 40310 B BLOEE 40320
BRFAPR B\ B EBREORE 7.4 52 08 55 55 45 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 18 0 60 ¢
= 7.8 52 0.8 0.00 00 00 00 00 00 00 00 0 18 0
. 040330
12 3 1 s 40320 ORLDEE —BEE1 878
ES =S W £ DR HEE = 15.9 12.6/ 12.1 11.7, 7.0/ 55 0.0 00 22 00 2 3.3 0.1 00 00 00 00 00 133 1 41 0 50 = 040340
= 5.9 12.6/ 12.1 3.3 0.1 00 00 00 00 00 133 1 41 0
. . Q40350
13 R FNER S 40330 OR:DESE RS
TS WAR L ORE TR 9.5 9.4 9.4 125 7.5 6.0 00 00 25 00 2 7.7 1.5 0.0, 00 0.2 02 00 89 0 21 0 30 | 040360
13 TR 40340 FoEE eIl 14 40370
AR RRNHR RSB NIR 0.3 03 03 68 68 55 00 00 00 00 2 00 00 00 00 00 00 00 03 0 4 o 30
13 GEANE 4 40350 eIl 14 EETIELS 65 40370
T EHBHET /IR REL LS 1.2 1.2/ 01 59 59 42 00 00 00 00 1 0.7/ 0.0 00 00 00 00 00 12 0 5 0 30 ¢
13 BT 40360 BB i B EEE S 40380
T QEL L HARASHEREIR 1.3 1.3/ 0.7 95 50 40 00 00 25 00 1 1.3 0.1 00 00 03 01 00 05 2 10 0 30 ¢
13 EFNER S 40370 TR —BEE S 40390
A RARNBEEAR KEEe S 1.9 1.9 1.1 123 66 40 00 00 32 00 1 1.9 01 00 00 03 01 00 12 2 14 0 30 ¢
13 EANE 4 40380 GEANER BOESAEITERA 40400
A RRUHR BROERZIEER 1.6 1.6/ 1.6 145 7.5 6.0 00 00 45 00 2 1.6 1.5 00 00 00 00 00 00 0 9 0 50 ¢
& 15.8/ 15.7 13.2 3.2 3.2 00 0.0 08 04 00 121 4 63 0
e . e 040410~
14 4 40390 —BREE 9 & BRER
aEFRR REEOS IBEE AR R L2 54/ 51 4.8 10.4 65 55 00 00 45 00 2 500 1.2 0.0 00 1.0 1.0 00 48 0 34 1 40 | 040460
i g e 040430~
14 # 40400 WS OR&DEE
HEF AR I8k AR R L AR & DR 1.3 11.3 11.3 11.5 7.5/ 6.0 00 00 25 00 2 10.3 1.2 0.0 00 0.5 05 00 104 2 46 0 40 | 040450
= 16.7 16.4) 16.1 5.3 2.4 0.0 0.0 1.5 1.5 00 152 2 380 1
15 # 40420 —BEE3 148 EERELS o Q40470
RESER BEE = ATiEABAAA & R 3.8/ 38 3.8 150 80 60 00 00 35 00 2 1.5 1.3 00 00 08 08 00 13 2 25 0 60
15 # 40430 B 5 ERELDEE Q40480
RESER FriEfER & R RIUR L DRE 47 31 03 50 50 40 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 5 0 60
= 8.5/ 6.9 4.1 1.5 1.3 00 00 08 08 00 13 2 30 0
16 A BT 40440 —BEE 1878 OR&DEE Q40490
AR BEE = AR & DR 0.0 10.0 89 109 70 55 00 00 1.7 00 2 44 02 00 00 03 02 00 94 1 46 0 50
& 10.0/ 10.0 8.9 4.4 0.2 00 00 03 02 00 94 1 46 0
. . . 040500~
17 2N 145 40450 GERNER EFNETET - 1
ENSET )G RRNHR RIS - AW 6.0 15.9 11.3 12,0, 7.0/ 55 0.0 0.0 25 00 2 7.1 1.4 00 00 02 02 00 123 0 53 0 40 | 040520

21



X MEERSF R B B H % X B R 2 K K F AR .
2 & &l ® & &l 5 BE BR B% @R @b m®m | @ BFOE
B . EORE 5% # K ® b BE 5 BB T o & al m R m e xR
: . ; - % ] g - e | | o sz 3l
" el o B LR B ow® o, =& T H 0® GE L& mE B _®m @ & & #x & #7
# e Fo, N - | £t = & B B @ B P - i
% *7? % m &R &R i s ﬁ IE EE _ B =] =] % = 2
= r B & - = = ® & % L R | &g iE = = R
& z ~ = @& "™ g = | Z _ mE “E SE 3 ; .
& BGRRES BEBRLS ® oo Gm B W oo mER & FE | A
2 = E #M tR A & & A =®A A %A y4 T 1 mOE | gs
E #E EE VR #EE HEE BE Y L oK
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
17 AN 43 40460 SEFNEHET - i 40520
ENSET G RRSE - SET = HEFLR 56 3.8 33 107 7.5 60 00 00 25 00 2 1.3 0.0 00 00 O 000 00 1.1 O© 16 0 30 ¢
= 2.6 19.7 14.6 8.4 1.4 00 00 O 0.2 0.0 13.4 0 69 0
21 A3 % 40470 AT —BEE43 18 (A8 40530
HITEHRS AERENIR BEEA3 18 U34/5R) 0.8 0.8 038 250 160 130 1.5 00 45 0.0 4 0.8/ 0.8 00 00 O 0.8/ 00 05 3 5 0 50 ¢
21 A5 % 40480 TSRS SEHATE 40540
HITEHS WIFERR AEEEHRIR 0.9 09 09 21.0/ 135 120 1.0 00 38 00 4 0.9 0.8 00 00 O 0.8/ 00 09 3 1 0 50 ¢
21 A3 % 40490 —BEE9S TS E 54 40550
HITERS BEEOS HITR RS 0.7 0.7 0.7 250 160 130 1.5 00 45 0.0 4 0.7 0.7 00 00 O 0.7 00 0.2 5 5 0 40 ¢
. . . . . 040560
21 AT B4R 45 040500 —MBEEOE (MUTER - fEE —BEEoE
HITEHER KEESS (MLER - Al KEEe S 1.7 1.7 1.7 22.3 154 125 1.5 00 44 00 4 1.7 1.2 00 00 1 12 00 1.3 8 9 0 40 | 040570
21 A3 % 40510 —BEE9S TS E 54 40580
WITEHS REEOS HITRESR 0.6 0.6 06 222 146 136 00 00 39 00 4 0.6f 0.4 00 00 O 0.4 00 06 6 7 0 40 ¢
. e . 040590
21 T B R4S 40520 TSI —EEE4 318
HITBHRS WIFEAR HEE = 0.7 0.7 0.7 160 13.0 125 00 00 1.5 0.0 4 0.7 0.1 0.0 0.0 O 0.1/ 00 0.7 5 4 0 40 | 040600
21 A3 % 40530 & %M & SR 40620
HITEHS TERATERER LR REGILR 4.4 4.4 44 121 7.0 55 00 00 22 00 2 3.5/ 0.4 00 00 1. 0.4 00 21 1 7 0 50 ¢
21 A3 % 40540 HREITE A3 40630
HITERS AEGIIR HITEB=FMR 4.3 43 42 96 60 55 00 00 25 00 2 2.4 01 00 00 O 0.1 00 42 1 4 0 50 ¢
21 \S # 40550 0 A3 40630
WL B BIESRANR HITESRRMR 1.6 1.5 1.3 120 7.0 55 00 00 30 00 2 0.5, 0.1 00 00 O 0.0/ 00 09 0 5 0 60 0
21 A3 % 40560 0 AN 40640
HITEHS WIESRANK WITESRRNR 0.1 00 00 45 45 23 00 00 00 00 1 0.0/ 00 00 00 O 0.0/ 00 01 O0 1 0 60 ¢
21 A3 % C40570 —MREE 4312 (Nq/8 i LM &G 40650
HITERE BEEA318 (U345R) MERATERER LR 0.8 0.6 06 145 7.5 65 00 00 30 00 2 0.8/ 0.2 00 00 O 0.2l 00 08 3 5 0 40 ¢
& 16.6 16.2| 15.9 126/ 4.8 0.0 0.0 8. 4.7 0.0 12.3 35 53 0
22 TS E IS4 40580 0 & A3 40660
HITRRESHR WISHR (88 HITEHR 0.5 0.5 05 19.0/ 120 10.5 0.6/ 0.0 3.5 0.0 2 0.5, 0.5 00 00 O 0.5, 00 03 4 0 0 40 ¢
& 0.5 0.5 0.5 0.5, 05 00 00 O. 0.5 00 03 4 0 0
. 040670
23 21— 4 40590 —BEE9S SE || - s
RII—EXHR BEEOS ENIAT - AT R 3.7 37 37 120 7.0 60 00 00 25 00 2 3.7 0.5 0.0 0.0 3 0.5 0.0 0.0 5 19 0 50 = Q40680
23 21— 4 40600 % JIIHT - i —REE4 318 40690
BII—xia BJIET - EEAET 5 KEE4315 2.5 2.5 2.5 120 7.0 60 00 00 25 00 2 2.4 01 00 00 2 0.1 00 00 2 5 1 50 ¢
. - 040700
23 1= % 40610 —REE4 318 MBS
LII—ExHa BEE = MFRER 11.9 8.1 80 10.7 7.00 55 00 00 20 00 2 2.8/ 0.2 0.0 00 O 0.1 0.0 0.0 2 13 1 50 = 040760
23 %=1 — % 40620 P S 40710
BII— X8 IMPRER MR 3.2 32 32 108 7.5 60 00 00 25 00 2 3.2 0.2 00 00 O 0.2l 00 32 0 5 0 60 ¢
23 %=1 — % 40630 SE B RS L 40720
BII—xHa MRS mESHERERR LR 4.8 43 3.8 103 70 60 00 00 25 00 2 1.4 0.0 00 00 O 0.0/ 00 00 O 3 0 60 ¢
23 21— % 40640 & D R e 4% 40730
R xR TESHERERR LR TOMhER & R 090 00 00 20 20 10 00 00 00 00 1 00 0.0 00 00 0 0.0 0.0 0.0 0 0 0 60
23 %=1 — 4 40650 BATFEER AEEIEEIEH 040740
BII—xis BT AERR TABEIFRSS 3.3/ 00 00 50 50 40 00 00 00 00 1 0.0/ 00 00 00 O 0.0/ 00 00 O 3 0 40
23 21— % 40660 AEET{EHEISS e 2 4 040740
RII—xHa TABEIFRESSR ek 0.8 08 08 84 65 55 00 00 1.9 00 2 0.1 00 00 00 O 0.0 00 038 1 3 0 40
23 21— 4 40670 i 2 4o 2 h < 49 Q40750
R X8 BihER R 1.2 1.2 1.2 105 6.5 55 00 00 20 0.0 2 0.7 01 00 00 O 0.1 00 1.2 0 4 0 40
23 21— % 40680 s = o i 040750
RII—xH BiRER K R EwHR 129/ 86 7.1 9.3 7.0 55 00 00 1.5 00 2 0.8/ 00 00 00 O 0.00 00 05 0 13 0 40
& 45.2) 32.4 30.3 5.1 1.1, 00 0.0 7. 1.0 0.0 57 10 68 2
24 AT AR LS 40690 —BEE9S —EE O S (VT - Al Q40770
HITRRE REEOS REESS GNTER-®8) . 5 5 55 165 13.0 20 00 45 00 4 0.7 07 00 00 O 03 00 13 2 0 0 60

22



X MEERSF R B B H % X B R 2 K K F AR .
i = a1 # A o $ BiE B% | 8% m® &As mE @ BFOE
B . EORE 5% # K ® b BE 5 BB T o & A A m e xR
. N _ = | g = = s o = 7 A
@ ] oo B LB o, & ®EO8 K . wE _E BE " _® @ & & #x B B°
#h - F oL N B - | B t = & = = & B P - g
% *7? % m &R &R i s ﬁ IE EE _ B =] =] % = =
=1 B # = % & & = % L E iE = = =1
& i3 . = = 1B = = | ¥ E E T ¥ ; :
H BRERAS BERBRES w o Hm BB B ox @\ f g FE R OSE Lp CE g T e = omy
= s P P & »M t8 A A A A %A A HA 5 = 0 E BB B B as
£E %R ER YFE ER ERE EE Y L o%
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
. . - . . Q40780
24 NTARRES C40700 —BENEOE (MTHEEE - I NI - & i
HITRR#R KEESS (MILEHR - fiE) WL - BEW B 82 82 82 135 80 60 15 00 2 0.0 2 6.9 07 00 00 1.7 07 00 76 4 25 0 50 | 040790
. . . 040800~
24 AT AR 40710 NiTT - B 5 EEEE LG
WITRR# Wi - EEw & AEEULS 1.3 11.3 11.3 135 85 65 00 00 2 0.0 2 1.3 39 00 00 29 29 00 1.0 6 27 0 60 | 040820
24 AT AR 40720 SR EELY N 40830
HITRRE ERERLS HITARR 1.0 1.0 1.0 125 7.5 6.0 00 00 2 0.0 2 0.7/ 00 00 00 06 00 00 10 3 7 1 50 0
24 AT AR 40730 T A RS —REES 48 40840
WITRR# WIIRRR BEES 45 56/ 56 56 125 7.5 60 00 00 2 0.0 2 52/ 03 00 00 07 03 00 56 2 18 0 50 ¢
24 AT AR I 40740 —BEE 9 £ SETYA BB 40850
HITRR# BEEOS Ty AATH 1.8 1.8/ 0.5 91 67 45 00 00 1. 0.0 1 0.7/ 00 00 00 05 00 00 18 3 10 0 40 ¢
24 AT AR 40750 SR EELY N 40860
HITRRER ERERLS HITARR 0.9 09 09 230 120 95 00 00 5. 0.0 2 0.9 09 00 00 09 09 00 00 1 4 0 60 ¢
24 AT AR 40760 EEEE LG Q40860
HITRR# AEEULS 0.5 05 05 200 100 9.0 00 00 3. 0.0 2 0.4 0.4 00 00 04 04 00 00 1 1 0 50
& 30.6/ 30.6 29.3 26.8 6.9 00 00 80 55 00 283 22 92 1
25 i REE L 40765 8 SRR 40865
EREELR b EERR A 0.5 05 05 11.8 68 55 00 00 2 0.0 2 0.5, 0.1 00 00 05 00 00 05 2 4 0 50 ¢
25 R EE L 40770 SRR EIR ETARETS 40870
EAEELS EERRFRAN Ty AATH 0.9 09 09 11.20 90 7.5 00 00 1. 0.0 2 0.9 00 00 00 09 00 00 09 2 6 0 40 ¢
. . . . 040880
25 EREEILS 40780 SETASETH NI - & 1%
AEEULH Ty AT WL - MR B 79 75 70 100 7.0 60 00 00 1. 0.0 2 29 08 00 00 22 08 00 7.8 0 31 0 40 | 040980
25 R EE L 40790 NiTT - B 5 EREH 40890
EAEELR Wi - BEw & HEXRS 7.5, 6.3 47 115 7.5 55 00 0.0 2 0.0 2 2.8/ 0.1 00 00 00 00 00 65 1 16 1 40 ¢
25 R EE L 40800 EREH AST AR D8 40900
EAEELS HEXRS HITARSR 1.8 1.8/ 1.8 130 7.5 6.0 00 00 2 0.0 2 1.8 0.0 00 00 03 00 00 15 1 6 1 40 ¢
. . e Q40910
25 FEREEILS 40810 AT AR Je e ST A R 5
AEELR WIARR RRRRR 79 7.9 7.9 17.5, 9.0, 6.0/ 0.0 0.0 5 0.0 2 4.6/ 1.8 0.0 00 1.0 1.0 00 6.6 3 25 0 40 | 040920
25 R EE L 40820 AR I = - BHERT 15 40920
EAERLS RRARLH wT - RUEET 5 1.9 1.9 1.9 96 80 60 00 00 O 0.0 2 0.3 01 00 00 03 01 00 00 0 4 0 50 ¢
. . 040930
25 EREEILS 40830 = - BHERET i —BEE3 148
AEEULS A - BARET & HEE = 7.3 7.2 7.2 13.0 7.0 6.0/ 0.0 00 2 0.0 2 3.5/ 0.6 00 00 01 01 00 37 1 16 0 50 = 040940
25 EEEE LY 40840 —BEE3 142 —BEE4 328 Q40950
AEELR BEE = EE - 1.4 1.4 1.0 104 7.2 6.0 00 00 1. 0.0 2 1.0 00 00 00 06 00 00 14 3 6 0 40
. . Q40960
25 ESEEILS 40850 —BEE 4 3 28 BOEEEITERAE
AEEULS BEE = BROER GRS 19.4 16.0/ 15.7 12.5/ 7.5, 6.0 0.0 0.0 2 0.0 2 7.4 1.5 00 00 0.2 02 00 131 1 43 0 60 040970
& 56.5 51.4 48.6 25.7 50 0.0 00 61 22 00 420 14 | 157 2
26 E=TIRY 40890 —BEE 9 & E=TIES 40990
HE=NEH REEOS NER 57/ 57 52 150 80 65 00 00 3. 0.0 2 3.7 2.8 00 00 03 03 00 28 0 6 0 60 ¢
_ _ Q40990
26 E=TIRY 40860 E=TIBRH EH-E 1
WE=NEH HE=NEH wem - BEm & 51 51 51 95 7.0 60 00 00 2 0.0 2 0.2/ 00 00 00 00 00 00 48 1 11 0 40 | 041010
26 E=TIRY 40870 EH-E i —EEES5 48 Q41020
WEZNER i - BEW & BEES 45 49 49 41 125 80 65 00 00 2 0.0 2 3.9 1.3 00 00 03 03 00 42 1 15 0 40
26 E=TIRY 40880 IR ES HEiEAE2185 4 i Q41030
WE=NEH BRITHUES TEEA2ISSR L EE 0.2 02 0.2 237 1.0 155 0.5 0.0 3. 0.0 4 0.2/ 0.2 00 00 02 02 00 00 1 3 0 60
26 E=TIRY 40895 Q40995
HE=NER 0.3 03 03 11.5 80 65 00 00 3. 0.0 2 0.3 0.3 00 00 00 00 00 00 0 0 0 50
= 6.2 16.2 14.9 8.3 46 00 00 08 08 00 11.8 3 35 0
27 EHEEEE 40910 —BREE 9 & Oy r S It Q41040
HENFEAHR BEEOS BROERF:IEER 0.7 0.7 0.7 250 11.0 6.0 00 25 7. 0.0 2 0.7/ 0.7 00 00 07 07 00 07 5 3 0 40
& 0.7 07 0.7 0.7 0.7 00 00 07 07 00 07 5 3 0
. Q41050
28 R 40920 —BEE 9 £ 2 HE RS
HEXHH REEOS BIHEXHE 41/ 3.9 39 120 80 65 00 00 2 0.0 2 39 1.5 0.0, 00 38 15 00 00 8 18 0 50 = 041060

23



X MEERSF R B B H % X B R 2 K K F AR .
e S # = o $ B A% | 6% m& ms mx @ KT OW
B . EORE 5% # K ® b BE 5 BB T o & A A m e xR
. N _ = | g = = s o = 7 A
@ ] oo B LB o, & ®EO8 K . wE _E BE " _® @ & & #x B B°
§ #h - F oL N B - | B t = & = = & B P - g
% *7? % m &R &R i s ﬁ IE EE _ B =] =] % = =
= R #H = % ® & 2 % E iE = = =3
S jind N = = & = S Eg n3 v n3 3 L2 5 -
H BRERAS BERBRES w o Hm BB B ox @\ f g FE R OSE Lp CE g T e = omy
= s P P & »M t8 A A A A %A A HA 5 = 0 E b R ==
£E %R ER YFE ER ERE EE Y L o%
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
28 ERA 40930 £ HEXE —BEE4 318 41070
HEXHR BIHEXHER BEE4318 1.2 1.2/ 1.2 120 80 65 00 00 2 0.0 2 1.2 00 00 00 1.2 00 00 00 1 5 0 50 ¢
= 53 51 5.1 51 1.5 00 00 50 15 00 00 9 23 0
, . , 041080
29 %48 40940 —BEE4 3 18 545
Kt RS BEE = K R EwHR 8.0 80 7.3 11.3) 7.0 60 00 00 3. 0.0 2 1.5 0.5 00 00 06 05 00 55 2 10 0 40 | 041090
29 RS 40950 R RS 41080
K RS KL AR KH RERR 0.5 05 02 58 58 48 00 00 O 0.0 1 0.00 00 00 00 00 00 00 00 0 1 0 60 ¢
= 8.5/ 85 1.5 1.5 05 00 00 06 05 00 55 2 11 0
30 =t AINEL 40960 —BREE 9 £ T3 EE B 41100
LR BEEOS TEXENFRESR 0.6 06 06 145 90 7.5 00 00 3. 0.0 2 0.6/ 0.3 00 00 04 03 00 04 4 0 0 50 ¢
30 =L AINEL 40970 T3 =I5 4 & 41110
LR MTERETEEAR LRI &8 8.0 80 7.4 130 80 60 00 00 2 0.0 2 7.8 0.0 00 00 1.9 00 00 39 4 26 0 50 ¢
30 =L AINEL 40980 &4 3 EE I 41120
LR Lm&a BEAFFEBE 49 49 49 11.5 65 55 00 00 2 0.0 2 0.5, 0.0 00 00 00 00 00 43 0 5 0 40 ¢
30 =L AINEL 40990 ;i =5 i5 4 A £ 4 41130
LA ER BEAFFEAR NEESR 6.4 6.4 57 105 6.5 55 00 00 1. 0.0 2 220 01 00 00 01 01 00 51 1 10 0 40 ¢
= 19.9/ 19.9 18.6 1.1 0.4 00 00 24 04 00 137 9 41 0
_ . - Q41140
31 ~ R 41000 —BEE 9 & PR
Caami BEEOS RERTR 59/ 59 59 11.8 85 65 00 00 2 0.0 2 5.9/ 0.4 0.0 00 34 04 00 49 2 18 0 50 = 041220
_ - _ Q41150
31 ~ RS 41010 2T # CERES
Caami REHITHR Caamn 9.8/ 9.7 9.7 11.8/ 85 65 00 00 2 0.0 2 6.9 05 0.0 00 06 05 00 53 2 19 0 60 = 041160
31 —EEE R €41080 —FE B R —EEEH 41170
Caami Cmamn Caam® 0.8 08 02 65 65 60 00 00 O 0.0 2 0.00 00 00 00 00 00 00 01 1 0 0 50 ¢
_ _ Q41160
31 —FE &R 41020 I 1 B R
Caami KE - N0 Caamn 8.5 85 7.4 13.5 65 55 00 00 3. 0.0 2 1.7 1.4 00 00 08 08 00 84 0 10 0 40 | 041180
_ 041180
31 —E B R 41030 NEAES | A5
Caami BRI RS 1.3 1.3/ 0.4 7.2 1.2 50 00 00 O 0.0 1 0.0, 00 00 00 00 00 00 1.3 1 6 1 30 | Q41190
31 —EEE S €41040 AR {EEBH A £ 4 041190
Caami NAFRRR IEES R 0.1 01 00 7.2 7.2 50 00 00 O 0.0 1 0.00 00 00 00 00 00 00 01 0 2 0 30
31 —EEE 41050 ESEL I )1 A 4 041200
Caami NEREHR RIRNAR 0.8 08 02 95 62 46 00 00 O 0.0 1 0.5, 0.0 00 00 01 00 00 05 2 1 0 30
31 —EEE 41060 NEAES I - B 5 041200
Caam® BRI NIZEr - BFET 5 1.5, 6.5 1.5 50 50 40 00 0.0 0. 0.0 1 0.00 0.0 00 00 00 00 00 108 0 4 0 40
_ . Q41200
31 — RS 41070 | - & B B
Crami NI - BFEET 5 BfERH 6.4 6.3 1.2 85 60 50 00 00 2 0.0 1 0.0, 00 00 00 00 00 00 64 1 10 0 60 = 041210
= 451/ 39.9 26.5 15,00 2.3 0.0 0.0 49 1.7 00 37.8 9 70 1
N . 041230
32 BRI 41100 —BEE 9 £ i 1
R 158 BEEOS REH - NIFWT B 1.4 11.4) 11.3 12.5 7.5, 6.0 0.0 0.0 2 0.0 2 45/ 0.4 00 00 00 00 00 79 1 21 0 40 | 041240
N . 041240
32 RRENARE 41110 =)l hicy —EEE26 15
R 58 KE - N0 KEE - 10.2 10.2| 10.1 10.8/ 7.5 6.0 0.0 0.0 2 0.0 2 3.8/ 1.4 0.0 00 04 04 00 7.3 0 25 0 40 | 041250
= 2.6/ 21.6 21.4 8.3 1.8 00 00 04 04 00 152 1 46 0
33 SRS 41120 —BREE 9 & wORATI-IXKRA 041260
BE& BEEOS BROERFIERR 1.2 1.2/ 1.2 130 7.0 6.0 00 00 2 0.0 2 1.2 05 00 00 1.2 05 00 10 1 1 0 40
= .20 1.2 1.2 1.2 05 00 00 1.2 05 00 10 1 1 0
. . 041270~
34 i3 1 €41130 —BEE 9 £ —O;
sl BEEOS DRFEHR 7.6 7.6 7.6/ 14.0 7.5 6.0/ 0.0 00 2 0.0 2 49/ 21 00 00 02 02 00 66 1 23 0 60 = 041310
34 i3 # c41140 —m; RE R4 041280
sl TR RRBER 58 58 58 11.3 80 60 00 00 O 0.0 2 1.8 0.1/ 00 00 06 01 00 58 0 10 0 60
34 i3 15 41150 LIRS AR A 2R —H 041290
BXEH RRERE WA 58 2.8/ 2.8 2.7 130 7.0 55 00 00 3. 0.0 2 0.4 01 00 00 02 01 00 28 0 7 0 60

24



X MEERSF R B B H % X B R 2 K K F AR .
2 & &l ® & &l 5 BE BR B% @R @b m®m | @ BFOE
B . EORE 5% # K ® b BE 5 BB T o & A A m e xR
ot % R ; B & & = g S R 1
w@ bl s 5 ® B s S - [T B | A& B ® g g BEBR X
§ #h - F oL N B - | B t = & = = & B P - g
% *7? % m &R &R i s ﬁ IE EE _ B =] =] % = =
=1 B H = = &= & = | 5 E I = = =1
S jind N = = & = S Eg n3 l/IE 3 QKE 5 -
H BRERAS BERBRES w o Hm BB B ox @\ f g FE R OSE Lp CE g T e = omy
= s P P & »M t8 A A A A %A A HA 5 = 0 E b R ==
£E %R ER YFE ER ERE EE Y L o%
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
34 E & 41160 REIBA 8 —H B . i) 41300
BXE& AR 58 B - SEm H 9.7/ 7.0 45 50 50 40 00 00 00 00 1 0.00 0.0 00 00 O 0.0, 00 7.1 © 8 0 60 ¢
34 B # 41170 B . b5 = 41300
sl LML b= 6.4 6.4 43 130 80 60 00 00 25 00 2 0.3 0.0 00 00 O 0.0, 00 31 © 5 0 60 ¢
34 B 1 c41180 = —BEE19 18 41300
BXEH PR HEE = 0.5 05 05 100 7.5 60 00 00 25 00 2 0.4 00 00 00 O 0.0, 0.0 05 0 3 0 60 0
= 32.8 30.1 25.4 7.8 2.3 00 00 1.0 04 00 259 1 56 0
35 =B84 41190 moEEaEIREA FlIE 41320
HEFREBR BROERS:EH HERIR 0.1 01 01 220 130 9.0 00 20 45 00 2 0.1 0.1 00 00 o 0.1 00 01 © 1 0 30 ¢
35 = B 154 41200 FAlIE —BEE O S 41330
HEFRESR i KEEe S 0.4 04 0.4 190 100 60 00 00 45 00 2 0.4 0.4 00 00 O 0.4 0.0 03 2 4 0 30 ¢
= 0.5 05 0.5 0.5 0.5 0.0 00 O 0.5 00 0.4 2 5 0
. . . 041340
37 \T % 41210 —BEE 9 £ —BEE4 318
WITERXFMS BEEOS HEE = 1.1 1.0 1.0 265 16.0 13.5 2.5 0.0 45 00 4 1.0 1.0 00 00 O 0.9 0.0 00 5 5 0 50 = 041350
37 NTRE # 41220 —BREE4 3 18 EENTH Q41360
WITERXFMSR BEE = AEEEIIR 0.6 05 05 21.3 131 11.6, 00 00 35 00 2 0.5, 0.3 00 00 O 0.3 0.0 05 5 2 0 40
. s s 041370
37 NT # 41230 EE T EEAES
HITERXFMSR AEEERIR HERERR 3.4 3.4 32 140 90 60 00 1.5 35 00 2 3.4 1.4 0.0 00 2 1.4 00 29 8 22 0 50 = 041380
37 A 1 41240 0 SHHEITH 41460
WITERRRMR HERERR ARG 3.4 34 34 160 85 65 00 00 35 00 2 3.4 33 00 00 1. 1.6 00 2.6 1 26 0 40 0
37 NTRE # 41250 \STRE 41390
WITERXFMNSR AEGILR WITESRRNR 3.9 38 3.8 145 85 65 00 00 35 00 2 3.5, 2.4 00 00 O 0.4 0.0 29 2 22 0 40 ¢
. - . Q41400
37 AT 1 41260 G AR T EBIRE
WITER=FRSR AERBBRR HITERR 14.2 11.8/ 6.0 11.2. 6.5 55 00 00 1.7 00 2 3.5 0.1 0.0 00 O 0.1 00 7.2 2 47 0 40 | 041410
37 NTRE 1 41270 A3 A3 41420
WITEEXFRER WIIEBR® HILEHR 0.2 00 00 36 36 26 00 00 00 00 1 0.00 00 00 00 O 0.0, 0.0 02 0 4 0 60 ¢
. . . 041430
37 NT 1 41280 NT B AR 4 AT
WITERXFMSR WILEBR HITEBXFMR 14.1 13.4 12.8 10.8/ 7.5/ 6.0 0.0 00 25 00 2 9.6/ 1.4 0.0 00 1. 1.4 0.0 107 0 39 0 40 | 041440
37 A3 4 41290 T EEES —iREE 4 = 41450
WITERXFMS BILERER KEE4855 6.2/ 47 42 125 1.5 60 00 00 25 00 2 3.7 0.1 00 00 O 0.0, 0.0 53 0 13 0 40 ¢
= 47.1) 42.0 34.9 28.6 10.0, 0.0 0.0/ 8. 6.1/ 0.0 32.3 23 180 0
38 & # 41330 —BEES 48 HHEES 41500
BeLAFR BEES 45 = RS 6.7 6.6 6.6 122 80 60 00 00 25 00 2 1.4 0.2 00 00 O 0.1 0.0 6.5 0 19 0 60 ¢
Q41500
38 & R 41340 EHERS EHELES
BeLRrR = HRRR =ERHER 45 29 29 11.0 65 55 00 00 25 00 2 2.7 0.3 0.0 00 O 0.2/ 0.0 45 2 18 0 30 | 041510
38 & # 41350 HHEHES = - AT B 41520
BeLAFR = EAHER w - RUBET 5 29, 0.0 00 40 40 30 00 00 00 00 1 0.00 0.0 00 00 O 0.0, 00 01 © 2 0 60 ¢
38 & # 41360 = - BHERT i —BEE4 328 41520
BeELAFR - BAEEAT R KEE4325 51 43 43 138 85 65 00 00 25 00 2 3.5, 0.9 00 00 O 0.0, 0.0 02 0 13 0 60 ¢
38 & # 41370 & —BEE4 328 41530
BeLAFR BELAFR KEE4325 0.6 00 00 60 60 30 00 00 00 00 1 0.00 0.0 00 00 O 0.0, 0.0 00 1 1 0 60 ¢
= 19.8/ 13.8 13.8 7.6 1.4 00 0.0 O 0.3 00 11.3 3 53 0
39 ; B4 41380 —BREE 9 & IR ES 041540
MR S8 BEEOS BRIAHER 1.9 1.9 1.9 122 7.0 55 00 00 27 00 2 1.0 0.0 00 00 O 0.0 0.0 1.9 1 1 0 50
39 ; &4 41390 IRHES —EEE184E 041550
MRS BRITAHHER KEE = 6.9 6.9 6.9 155 7.0 60 00 00 27 00 2 1.5 0.2/ 0.0 00 O 0.0, 0.0 51 2 17 0 60
. 041560
39 ; B4 41400 —REE184E Ef & 1
Mk S8 KEE = wem - BEm & 7.4 7.4 7.4 140 80 60 00 00 25 00 2 1.9 05 00 00 O 0.1 0.0 00 2 15 0 60 = 041570
39 ; a4 41410 EH-E i} —EE®E5 48 041570
MRS wlm - BEW & EESEE 6.4 6.4 6.4 130 80 60 00 00 25 00 2 2.6/ 0.1 00 00 O 0.0 00 55 2 21 0 60
o 226 22.6 22.6 7.0 0.8 00 0.0 0 0.1 00 125 7 64 0

25



X MEERSF R B B H % X B R 2 K K F AR .
2 & &l ® & &l 5 BE BR B% @R @b m®m | @ BFOE
B . EORE 5% # K ® b BE 5 BB T o & A A m e xR
= % B . = | 8 BEy | e A = = | e | = & A
w@ bl s ® B s S - [T B | A& B ® g g BEBR X
" i A Y O ® = G o & B @ _ _ i
% *7? % m gl‘ gl“ i s ﬁ IE EE _ B =] =] % = p==%
=1 B H = = &= & % 5 n3 = = =
F 3 3 _ _ g _ B % i Y T By £ . R
z BRBGRES BRBRES # o mm W W Wk B & p sE T E PR R B R r D% B
= s P P & »M t8 A A A A %A A HA 5 = 0 E b R ==
£E %R ER YFE ER ERE EE Y L o%
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
40 A £ 45 41420 —BEE2 6 18 I R 41580
NEES® BEE = NEXRRR 3.4 3.4 34 11.8 6.8 55 00 00 2 0.0 2 3.4 0.7 00 00 00 00 00 34 1 2 0 50 ¢
40 ESiEL" 41430 | R —EEES 41580
EES 8 NEXRE Caama 0.5 04 04 102 60 55 00 00 1. 0.0 2 0.2 00 00 00 01 00 00 02 1 2 0 50 ¢
40 A 245 41440 e I . 5 41590
EES 8 Cmamn NIZHr - SRABET 5 2.8/ 1.3 1.3 10,00 7.5 6.0 00 00 2 0.0 2 1.3 00 00 00 00 00 00 20 0 7 0 30 0
40 A 245 41450 | . 5 —BEE3 758 41600
NEES® iRy - SEAmAT AR KEE3 755 1.6, 10.6 10.2 13.5 85 6.5 00 0.0 2 0.0 2 7.4 0.6 00 00 1.2 06 00 97 0 14 1 30 ¢
40 AN 245 41460 —BEE3 7 58 . 5 41610
EES 8 BEE3758 SRHRNT - KB 2.3/ 21 2.1 11.8 85 65 00 00 2 0.0 2 1.6 00 00 00 01 00 00 00 ©0 4 0 30 ¢
. . . 041610
40 AR £ 45 41470 ESEL A3 £ 48
NEES® NERS8R NEES® 5.6/ 56 56 154/ 85 65 00 00 2 0.0 2 3.2/ 0.1 00 00 00 00 00 34 1 12 0 30 | 041620
. 041620
40 A 245 41480 . 5 -E 1
EES 8 XRE - AT 5 Rl - BEH & 7.3 7.3 1.3 122/ 1.5 6.0/ 0.0 00 3. 0.0 2 1.4 0.0 00 00 02 00 00 49 o0 14 0 60 = 041630
. . 041630
40 A 245 41490 - B —BEES 42
EES 8 thhr - W R BEES 45 7.3 7.3 1.3 11.8 6.8 55 0.0 00 2 0.0 2 1.3 0.0 00 00 00 00 00 46 0 11 0 60 = 041640
40 ESiEL: 41500 [E5ES" O Fs It 41650
EES & NERER BROERST:([H# 0.4 04 04 120 7.0 60 00 00 2 0.0 2 0.4 00 00 00 04 00 00 00 0 4 0 60 ¢
= 41.2) 38.4 38.0 206 1.4 00 00 20 06 00 282 3 70 1
41 T2 41520 —BEE2 6 18 SRTES 41680
LS BEE = RILZ®R 0.3 03 03 108 65 60 00 00 2 0.0 2 0.3 00 00 00 00 00 00 03 1 2 0 50 ¢
41 # 41530 SRTiES SRTES 41680
BIIER® RiLR RiLRR 0.2 02 02 160 90 60 00 15 3. 0.0 2 0.2 0.2 00 00 02 02 00 02 0 3 0 50 ¢
41 T2 41540 ST £ T4 41690
BIIER® KL EHETLER 3.00 30 30 11.5 7.0 60 00 00 2 0.0 2 2.5, 0.0 00 00 02 00 00 23 0 1 1 50 ¢
" - s Q41700
4 #iT # 41550 & pEp=:e & TR
BIIER® EHBITER EHELER 6.2 3.4 34 87 7.0 60 00 00 1. 0.0 2 0.0, 00 00 00 00 00 00 1.3 0 13 0 60 = 041740
41 ST 24 41560 £ T4 ST S 41700
BIIER® EHBIRS LS 1.2 1.2/ 1.2 7.0 7.0 55 00 00 O 0.0 2 0.00 00 00 00 00 00 00 12 0 1 0 60 ¢
41 T2 41570 TR WTHBA > 8 —1 Q41700
LS BIIERR BiLEA V2 —8& 0.4 04 04 93 68 55 00 00 2 0.0 2 0.4 01 00 00 00 00 00 04 0 2 0 60
41 1 41580 TR A V5 —1 SIiET - R s 41710
BIIER® BILRA ¥ 2 —8 TRm - REW & 1.2 0.7 0.2 50 50 40 00 00 O 0.0 1 0.00 00 00 00 00 00 00 08 0 1 0 60 ¢
- . . _ Q41710
41 w L A C41590 L i3 5 T
BIIER® - REW & EFER & 4.6/ 3.6 30 100 7.5 55 00 00 2 0.0 2 0.5/ 0.3 00 00 00 00 00 30 0 7 0 60 = 041720
41 T2 41600 A E R4 s s 041720
BILER® EIFEIR H\EE R 3.1 31 30 128 85 60 00 00 3. 0.0 2 0.9 0.6 00 00 03 03 00 29 1 7 0 60
41 ST 24 41610 B —EEE 1868 41730
LS B\ B KEE1865 3.6/ 36 35 90 68 55 00 00 2 0.0 2 3.4 1.0 00 00 00 00 00 34 2 13 0 50 ¢
41 T2 41620 £ T4 ST S 41750
LS BEHAIES L 0.8 0.8 01 45 45 35 00 00 O 0.0 1 0.00 00 00 00 00 00 00 08 0 2 0 60 0
= 24.6/ 20.3 18.3 8.2/ 22 00 00 07 05 00 166 4 62 1
42 EELRS 41630 —BEE187E =5 5 041760
ENERR BEE = =0T - #ET & 16.4 11.5 11.4 16.2/ 80 55 00 0.0 3. 0.0 2 1.4 0.6 00 00 05 05 00 92 2 10 0 30
42 EELRS 41640 ST - b 514 041770
ENER® ST - EEW 5 ERZE&® 5.0, 6.0 59 11.3 80 6.0 00 0.0 2 0.0 2 0.9 00 00 00 04 00 00 102 0 8 0 30
42 EEERE 41650 s —i3EE 4 8 88 Q41780
ENERR ERERSR HEE = 1.9 1.9 1.9 11.2 68 55 00 00 2 0.0 2 1.5 0.1 00 00 01 01 00 19 © 10 0 30
& 33.3 19.4 19.2 3.8/ 0.7 00 00 1.0 06 00 21.3 2 28 0
43 5 Ik 22 8 45 41660 BOEAFIERA 041790
Ml BROER 138 ERAT R 4.6 46 3.5 140 7.0 60 00 00 3. 0.0 2 3.5, 2.8 00 00 1.6 1.6 00 19 0 16 0 60
43 =I5 22 5 45 C41670 —BEE4 858 041800
e ahats K ~ .1 1.1/ 1.1 85 7.0 60 00 00 1. 0.0 2 1.0 00 00 00 00 00 00 11 0 2 0 40

26



X MEERSF B B ¥ ®H % X B R 2 K K F AR .
e S # = o $ B A% | 6% m& ms mx @ KT OW
B . EORE 5% # K ® b BE 5 BB T o & A A m e xR
. N _ = | g = = s o = 7 A
@ ] oo B LB o, & ®EO8 K . wE _E BE " _® @ & & #x B B°
#h - F oL N B - | B t = & = = & B P - g
% *7? % m &R &R i s ﬁ IE EE _ B =] =] % = =
= R #H = % ® & 2 % L E iE = = =3
& i3 . = = 1B = = | ¥ E E T ¥ ; :
H BRERAS BERBRES w o Hm BB B ox @\ f g FE R OSE Lp CE g T e = omy
= s P P & »M t8 A A A A %A A HA 5 = 0 E BB B B as
£E %R ER YFE ER ERE EE Y L o%
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
& 57 5.7 4.6 45 2.8 00 00 1. 1.6 0.0 30 0 18 0
44 # 41680 3 i 22 5 4 SpEy=F:ts 41810
TR MR PREFER 9.8/ 9.8 90 11.3 6.8 55 00 00 1. 0.0 2 4.4/ 0.2 00 00 O 0.2/ 0.0 9.4 0 12 0 60 ¢
— 041820
44 # 41690 HEF S
TR FHEFES ERAT R 14.7 1470 5.9 9.3 50 40 00 00 3. 0.0 1 2.5/ 1.2 0.0 0.0 O 0.6 0.0 11.9/ 0 18 0 60 = 041840
44 # 41700 £ Fi —iREE 4 = 41830
TR MilGc0> BT 73 B T S KEE4855 9.4 9.3 83 130 7.0 55 00 00 3. 0.0 2 40 1.7 00 00 O 0.3 0.0 48 0 24 0 60 ¢
= 33.9 33.8 23.2 10.9 3.1 0.0 0.0 1. 1.1 0.0 261 0 54 0
45 TR I 41790 —BEE 4 3 28 ek RIS 41890
ZRARRB KEEE43285 RRRRE 0.8 08 08 11.20 85 65 00 00 2 0.0 2 0.7/ 0.4 00 00 O 0.0, 0.0 00 1 1 0 50 ¢
. 041850
45 R I 41720 —BEE 9 & TSk R I
ZRRRB REEOS RRARE 3.2/ 32 22 130 9.0 7.5 00 00 2 0.0 2 3.1 0.5 0.0 00 1. 0.5 0.0 20 5 23 0 50 = 041860
45 LRI 41730 RRARE HEES 41860
ZRARB RRARLH R B 4.7 47 47 135 1.5 6.0 00 00 2 0.0 2 46/ 1.9 00 00 O 0.8/ 0.0 47 3 15 0 50 ¢
45 REARRTE 41740 fip AT —BEE4 328 41870
RRRR# B & KEE4325 3.4 34 29 11.0 65 60 00 00 2 0.0 2 2.8/ 0.1 00 00 O 0.1 00 1.8 3 10 0 50 ¢
45 e 41750 AR ek R I 41880
ZRARRB RRARLH RRRRE 1.8 1.8/ 1.7 16.00 80 6.5 00 00 4 0.0 2 1.8 1.3 0.0 00 1. 1.3 00 00 1 5 0 60 ¢
45 LRI 41760 AR = - E 5 41890
ZRARRB RRRLH Rk - AR B 5.7 12.6 12.6 120, 7.0 55 0.0 0.0 1. 0.0 2 1.4 0.1 00 00 O 0.0 0.0 13.5 1 22 0 50 ¢
041900~
45 HE R I 41770 REH - E 5 4 5 A S
RRARE R - BRI B RRARR 18.7 16.7| 16.1 140, 7.5 6.0 0.0 0.0 2 0.0 2 1.3 2.4 0.0 0.0 O 0.8/ 0.0 15.2| 4 39 1 40 | 041920
. 041930
45 RE AR 41780 ERN& —BEES 48
ZRARRB REARR BEES 45 200 20 20 13.6/ 82 55 00 00 2 0.0 2 200 0.3 0.0 00 O 0.0f 00 20 5 11 0 40 | 041940
& 50.3 45.2 43.0 27.7 7.0, 0.0 0.0/ 5. 3.5/ 0.0 39.2/ 23 126 1
- . _ Q41950
46 2T 45 €41800 —BEE3 752 —EEES
REHTH BEE = Caam® 8.8/ 88 83 145 85 65 00 00 3. 0.0 2 8.6/ 41 0.0 00 1. 1.5 00 7.5 1 25 0 40 | 041960
- _ . ) 041970
46 33T 45 c41810 e BEEEIBARY
KBTS Cmamn AEFRSEHR 0.7 0.7 01 11.8 54 40 00 00 2 0.0 1 0.00 0.0 0.0 00 O 0.0 00 0.2 1 3 0 40 | 041980
46 2T 4 41820 S EEEEARE - 1 Q41970
REHTHR AEFRBALR REH - NIART 5 8.9 7.1 36 126 1.5 55 00 00 2 0.0 2 1.9 0.1 00 00 O 0.0, 0.0 57 0 9 0 40
46 33T 48 41830 I 1 BRI A 41970
REHTH KE - N0 BRE5H 3.3 0.3 02 35 35 25 00 00 O 0.0 1 0.00 0.0 00 00 O 0.0, 0.0 00 © 5 0 60 ¢
46 PR 41840 BRI I i 5 041990
RERTHR 2RI JIZRT - LA 5 43 09 08 40 40 25 00 00 O 0.0 1 0.00 0.0 00 00 O 0.0, 0.0 00 © 4 0 30
46 2T 45 41850 | - 3T b5 —BEE26 18 041990
KBTS NI - ST HEE = 6.3 21 19 100 75 60 00 00 2 0.0 2 1.4 0.2 00 00 O 0.0, 0.0 00 1 4 0 30
& 32.30 19.9 14.9 11.9 4.4 00 0.0 1. 1.5, 0.0 13.4/ 3 50 0
47 # 41870 —BEE4 852 EAR o 042010
P R BEE = ATEARE R & R 41 41 40 120 9.0 60 00 00 1. 0.0 2 3.00 0.3 00 00 1. 0.3 0.0 32 4 10 0 60
47 # 41880 AR Eo —BEE4 85 042020
P FriERE R R & R HEE = 5.2/ 14.4 7.4 10.8 80 6.0 00 0.0 O 0.0 2 2.1 0.2 00 00 1. 0.2/ 0.0 144 0 24 0 60
& 19.3] 18.5 11.4 51 0.5 00 00 3. 0.5 00 17.6 4 34 0
_ . . 042030
48 = 1 41890 —BREE 9 & K . b
PR BEEOS B - SE8m & 12.5. 11.9] 10.1 120, 7.0, 6.0 0.0 0.0 2 0.0 2 51 0.3 0.0/ 0.0 1. 0.3 0.0 10.4 3 25 0 60 = 042040
48 = # 41900 B . i B 042050
P2 L L Sl 59 20 20 40 40 30 00 00 O 0.0 1 0.00 0.0 00 00 O 0.0 00 00 ©0 7 0 30
& 18.4 13.9 12.1 51 0.3 00 00 1. 0.3 0.0 104 3 32 0
49 + 45 41920 —BEE 4 3 28 H17+& >4 R X R 042070
B/l BEE ~ ¥ AR 49 25 06 60 40 40 00 00 2 0.0 1 0.3 0.0 00 00 O 000 0.0 00 1 10 0 60

21



X MEERSF R B B H % X B R 2 K K F AR .
2 & &l ® & &l 5 BE BR B% @R @b m®m | @ BFOE
B . EORE 5% # K ® b BE 5 BB T o & A A m e xR
. N _ = | g = = s o = 7 A
@ ] oo B LB o, & ®EO8 K . wE _E BE " _® @ & & #x B B°
#h - F oL N B - | B t = & = = & B P - g
% *7? % m &R &R i s ﬁ IE EE _ B =] =] % = =
= r B & - = = ® & % L R | &g iE = = R
&= T . ] = i 3 i 3 . -
H BRERAS BERBRES w o Hm BB B ox @\ f g FE R OSE Lp CE g T e = omy
= s P P & »M t8 A A A A %A A HA 5 = 0 E b R ==
E #E ®BE YE BE =R #EE Y L of
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
49 145 41930 H174: i EITFEE 42070
LRI AR BT RERRA 0.1 01 00 60 60 40 00 00 O 0.0 1 0.0/ 00 00 00 O 0.0/ 00 00 O 0 0 60 ¢
49 145 41940 BT FEE EITFEE 42080
LB BT RERM BT RER M 19 00 00 15 15 05 00 00 00 00 1 00 00 00 00 00 00 00 00 0 0 o 6
49 145 41950 BT FEE BEEHEHERE - SR L B 42080
EFIFHAIR BT AERR R GHERE - SR L I 0.7 00 00 40 40 30 00 00 O 0.0 1 0.0/ 00 00 00 O 0.0/ 00 00 O 0 0 60 0
49 114 C41960 HBEEHEHEAE - WG L B E R EEIL 42090
LRI RARRGHERL - SR L 6 EAEELS 2.2/ 0.8 00 50 50 40 00 00 O 0.0 1 0.0/ 00 00 00 O 0.0/ 00 00 O 5 0 60 ¢
49 114 41970 s REE I —BEE3 142 42100
LB ERERLS BEES 145 57 57 57 120 7.0 55 00 00 2 0.0 2 2.7 0.5 00 00 O 0.2 00 57 1 13 0 60 ¢
& 155 9.1/ 6.3 3.00 05 00 00 O 0.2 00 57 2 28 0
50 i E i 85 41980 —jpEE26 18 B & Q42110
ek BEE = AEMEE 10.6/ 10.3] 6.1 125 7.0 55 00 00 2 0.0 2 1.6 0.2 0.0 00 O 0.1 0.0 100 1 12 0 60
50 FTE T 41990 B R 42120
EIFERT B/\EE & BfERH 21 1.2 1.0 60 60 55 00 00 O 0.0 2 0.0/ 00 00 00 O 0.0/ 00 00 O 2 0 60 ¢
50 ATE T 42000 K 42130
ERER & AR BIIEER 10.6/ 6.6/ 40 120 7.0 6.0 00 00 2 0.0 2 3.4 00 00 00 O 0.0/ 00 1.9 0 18 0 60 ¢
50 i E i 85 42010 ST S B - 3T 5 42140
EIFER BILERR LS LU 2.7, 1.0, 01 65 40 30 00 00 2 0.0 1 0.0/ 00 00 00 O 0.0, 00 00 1 4 0 60 ¢
50 T E A 45 42020 p3 - T3 i VTR TSR 42140
EIFERT LA LR B R 4.4 29 27 1.2 68 55 00 00 2 0.0 2 2.2/ 0.3 00 00 O 000 00 02 0 12 0 60 ¢
50 ATE T 5 42030 VK TSRS LT - R 1 42150
ek B F (AR TRm - REW & 0.4 04 00 79 63 42 00 00 1. 0.0 1 0.0/ 00 00 00 O 0.0/ 00 04 O 2 0 30 ¢
50 T [ 45 42040 I - R b SPRES s 42160
e LM - REW = RIS 1.5 1.5 1.1/ 10.1 7.5 6.0/ 00 00 1. 0.0 2 1.3 0.2 00 00 O 0.1 00 1.5 1 5 0 30 ¢
_ - - 042160
50 42050 SR
EIRER & RIS ERTEIRR 3.2/ 32 0.8 120 54 44 00 00 3. 0.0 1 0.3 0.1 0.0 00 O 0.1 00 32 0 8 0 60 = 042170
50 ATE T 42060 AT E AT —EEEoS 42180
EIFERT# EIREI R KEEe S 6.1 6.1 55 11.5 7.5 6.0 00 0.0 2 0.0 2 52/ 1.2 00 0.0 O 0.6/ 00 61 1 37 1 60 ¢
50 ATE T 42070 R SRR N S B 15 4 42170
EIFEIRT B F F AR B F R 0.4 02 02 100 7.5 60 00 00 2 0.0 2 0.2 00 00 00 O 0.0/ 00 00 O 2 0 40 ¢
50 ATE T 5 42080 T S {2 B S SPAREL 42185
EFER# B F AR THRITRS 0.4 0.4 04 124 99 89 00 00 2 0.0 2 0.4 00 00 00 O 0.0/ 00 00 O 3 0 50 ¢
2 42.4 33.8 21.9 146/ 20 00 00 1.0 09 00 233 4 105 1
. 042190
51 ERHE 42090 —BEE1848 T B
HEAHMESR BEE = HERHEH 6.7 6.7 6.2 11.0/ 68 55 00 00 2 0.0 2 6.1/ 0.8 0.0 0.0 O 0.3 0.0 6.5 1 28 0 40 | 042240
51 ERHEL 42100 Ei - E = —EEES 42 42200
HEAHER e - BEm & KEES 45 57 3.1, 29 135 7.5 60 00 00 3. 0.0 2 3.1 1.8 00 00 O 0.0/ 00 1.5 0 14 0 60 ¢
51 E B 42110 —EEES 42 Nk 42210
HERHMESR BEES 45 BaXRa 2.8/ 09 09 100 65 55 00 00 3. 0.0 2 0.1 00 00 00 O 0.0, 00 00 1 4 0 60 ¢
51 E 42120 BKEL AREL 42210
HERHER BERRR BEXRER 0.2 02 02 75 7.5 55 00 00 O 0.0 2 0.0/ 00 00 00 O 0.0/ 00 02 0 1 0 60 ¢
51 EH 42130 PNt BT REE 42210
HERHMEHR BERRR TR 55 3.9 39 125 7.5 60 00 00 2 0.0 2 1.8 0.1 0.0 00 O 000 00 26 O 6 0 40 ¢
51 E B 42140 BT FEE EITFEE 42220
HEAHMES BT AER BT RERRA 0.8 00 00 1.0 1.0 1.0 00 00 O 0.0 1 0.0/ 00 00 00 O 0.00 00 00 O 0 0 60 ¢
51 ERHEL 42150 BT TREER —BEE3 148 042220
BB BT REEM KEE = 0.9 09 01 42 42 32 00 00 O 0.0 1 0.0/ 00 00 00 O 0.00 00 00 O 0 0 60
51 EH B 42160 —BEE3 148 = - BLERT i 042230
HERHMEHR BEE = R - MR 5 2.2/ 0.4 04 7.5 40 30 00 00 3 0.0 1 0.3/ 03 00 00 O 0.0 00 1.9 1 2 0 60
51 BRHEY C42170 Ef - BUHERT 3 —fEEE4 325 042230
HERHBR w - RURAT 5 EE = 54 2.6 25 7.0 7.0 55 00 00 O 0.0 2 0.0/ 00 00 00 O 0.00 00 01 0 5 0 60
o 30.2 18.7] 17.1 11.4 3.0 00 00 0 0.3 00 128 3 60 0

28



X MEERSF R B B H % X B R 2 K K F AR .
2 & &l ® & &l 5 BE BR B% @R @b m®m | @ BFOE
B . EORE 5% # K ® b BE 5 BB T o & A A m e xR
. N _ = | g = = s o = 7 A
@ ] oo B LB o, & ®EO8 K . wE _E BE " _® @ & & #x B B°
#h - F oL N B - | B t = & = = & B P - g
% *7? % m &R &R i s ﬁ IE EE _ B =] =] % = =
= R #H = % ® & 2 % L E iE = = =3
S jind N = = & = S Eg n3 n3 3 L2 5 -
H BRERAS BERBRES w o Hm BB B ox @\ f g FE R OSE Lp CE g T e = omy
= s P P & »M t8 A A A A %A A HA 5 = 0 E b R ==
£E %R ER YFE ER ERE EE Y L o%
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
. . . 042260
52 MENEA 28— 42190 B —BEE1862
RIS > 5~ mxEa HEE = 13.9 13.0, 8.8 125 7.5 60 0.0 00 2 0.0 2 4.8 1.2 0.0 00 01 01 00 41 0 28 0 60 = 052310
52 MEEA 28— 42200 —3EE 18 68 —3EE 18 68 42270
RIS > 5 —8 EEE1865 KEE1865 4.6 43 43 100 80 60 00 00 1. 0.0 2 0.1 00 00 00 01 00 00 40 0 3 0 60 ¢
52 MENEA 28— 42210 S el 455 42270
RIS > 5 — 8 SRS TOMhER & R 29 24 1.3 50 50 40 00 00 O 0.0 1 0.00 00 00 00 00 00 00 09 0 3 0 60 0
. . . 042280
52 MEEA 28— 42220 DihiE i s s
RIS > 5 —8 TOMER & R B\ET R 6.7 1.9 0.6 53 30 20 00 00 2 0.0 1 0.0, 0.0 00 00 00 00 00 00 0 4 0 60 = 042290
52 RENEA 22 —is 42230 s B &l 42300
RIS > 5 — 8 B/\EE & AEMEE 0.5 05 05 155 11.0 7.7 0.0 0.0 2 0.0 2 0.4 00 00 00 00 00 00 00 1 2 0 60 ¢
& 28.6 22.1 15.5 53 1.2 00 00 02 01 00 90 1 40 0
. 042320
53 E 042240 ST AR T =i
ARRHLER WIARR ARRHLER 4.4/ 3.4 3.4 11.6/ 6.8 55 00 00 2 0.0 2 1.9 00 00 00 01 00 00 42 2 4 0 50 = 042360
53 E 42250 = - B 5 ] =45 42330
ARRHEH W - BIE R NEEWH\ES 7.9 63 62 11.9 7.5 55 00 0.0 2 0.0 2 2.6/ 0.9 00 00 02 02 00 79 0 16 0 40 ¢
53 E4 42260 ] =4 —EEE4 328 42340
ARRHLER NEEHL/\RR KEE4325 2.4/ 2.4 2.4 13.3 6.8 55 00 00 1. 0.0 2 2.4 0.4 00 00 05 04 00 24 1 13 0 40 ¢
53 4 42270 —BEE 4328 =T - RHERT 85 42340
ARRHEH KEE4328 JVERAT - RUEAT 5 1.3 0.9 09 11.5 68 55 00 00 2 0.0 2 0.9 01 00 00 00 00 00 03 0 5 0 40 ¢
53 =4 42280 ZHT - EET i =45 42350
ARRHEH JVRET - RINEAT ARRUESR 2.4 1.7 1.7 120 65 55 00 00 2 0.0 2 1.1 00 00 00 01 00 00 00 1 16 0 50 ¢
53 E 42300 =4 —BEE IS (MITHEE - A4 42350
ARRHLESR ARRHUER BEEOS GNLER - £8) 0.6 0.6 06 140 85 65 00 00 2 0.0 2 0.6 0.1 00 00 01 01 00 00 1 1 0 50 ¢
& 19.0/ 15.3 15.2 9.5, 1.5 00 00 1.0 07 00 148 5 55 0
. - _ Q42400
54 FIE 42320 =B =B
HEEI8R HRFRAR HEA=RR 200 20 20 19.0/ 10.00 55 0.0 00 4 0.0 2 1.0 09 00 00 10 09 00 06 9 17 0 40 | 042410
54 FAlIE 42330 =paH —BEE19 18 42420
HERI8R HRA=RR HEE = 1.5 1.5/ 1.4 120 7.0 6.0 00 00 2 0.0 2 0.9 01 00 00 07 01 00 15 3 12 0 40 ¢
54 FAlIE 42340 —BEE19 18 —iREE 4 = 42430
HERI8R KEE = KEEs88S 6.2 6.3 53 125 7.5 6.0 00 0.0 2 0.0 2 3.9 0.2 00 00 01 01 00 7.2 0 14 0 30 ¢
54 FAIE 42350 ) EEAFE 165 Q42440
HEBI8R e s 0.2 02 0.2 200 1.0 95 00 00 4 0.0 2 0.2 0.2 00 00 02 02 00 00 0 4 0 40
2 19.9/ 10.0 8.9 6.00 1.4 00 00 20 1.3 00 93 12 47 0
55 = # 42360 e = . 5 42450
BEERES Cramn BT - S & 2.8/ 2.8 28 90 90 60 00 00 O 0.0 2 0.00 00 00 00 00 00 00 22 0 7 0 60 ¢
55 = # 42370 = . 5 —BEE3 758 42450
LSl B0 - S & KEE3 755 9.9 7.2 6.2 11.0 7.0 55 00 00 2 0.0 2 0.3 00 00 00 00 00 00 82 0 18 0 60 ¢
55 = # 42380 —BEE3 7 58 . 5 42460
LS KEE3758 SRARNT - SRFSHT 2.4/ 2.4 23 100 80 60 00 00 2 0.0 2 0.1 00 00 00 00 00 00 00 0 4 0 40 ¢
55 = # 42390 . b —REES 48 Q42460
LSl SSAmAT - SRFSHT BEES 45 8.7 80 7.6 11.4 80 60 00 00 3. 0.0 2 0.0, 00 00 00 00 00 00 87 0 16 0 40
2 23.8/ 20.4 18.9 0.4 00 00 00 00 00 00 191 0 45 0
56 & 42400 SHILAES 3 EE B Q42470
REEDR LSS BEAFFEBE 4.4 A4 44 95 7.0 55 00 00 2 0.0 2 0.00 00 00 00 00 00 00 44 0 10 0 60
56 4 42410 ;i =154 CHET 18 Q42480
REEDRR BEAFFEAR RE - R 9.4 7.7 6.2 140 80 60 00 00 3. 0.0 2 1.9 1.0 00 00 01 01 00 64 0 18 0 60
56 # 42420 - HEH O —BEE1 8 48 Q42480
REEDRR XE - HEH ® HEE = 3.7/ 0.1 00 35 35 25 00 00 O 0.0 1 0.00 00 00 00 00 00 00 00 0 0 0 60
& 17.5/ 12.2 10.6 1.9 1.0 00 00 01 01 00 108 0 28 0
57 S R — 42430 A H— = el Q42490
15 —8 B V58 ks BRRLE 0.7 07 07 85 85 7.0 00 00 0 0.0 2 000 00 00 00 00 00 00 00 1 0 0 50

29



X MEERSF B B ¥ ®H % X B R 2 K K F AR .
2 & &l ® & &l 5 BE BR B% @R @b m®m | @ BFOE
K #K 5% @& = B & {#E % @| F oo . _ '— A m e X®
EE N — JE iﬁ el iﬁ 15“ ﬁ“ A = 3
3 w0 R omo@ x =B # &K . Y mE B mE 2% B m £ £ #x =»B &
i B & 5 & # = B OE B g = h
BoOo®R & m2 | # # % N % & =l ® g - £ B8 =B
)= TE B & g % E B Er L A 7y FiE = = J=1
T A S RS # dm ®O&CB ok | R : qE TR ogE B R . B R g
= 8 E »W tE B A A B =B A ®A 4 =© 7 z * R
E #E ®BE YE BE =R #EE Y L of
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
. . . 042500
5'? EA 2 ] —h% tl = é_:'%:"gi 7'_.'3 E-'7
B o8-8 042440 BEES 45 t BRIER 2.6/ 2.6 2.6 17.00 80 6.5 00 00 45 00 2 2.6/ 25 0.0 00 25 25 00 00 2 3 0 50 = 042510
KA VA —H BT IE S —EEE oS
B8 —8 042450 HMEZERER KEES S 0.3 03 03 175 85 7.0 00 00 45 00 2 0.3 03 00 00 03 03 00 00 1 0 0 50 042510
Ly 3.6/ 3.6/ 3.6 2.9/ 2.8 00 00 28 28 00 00 4 3 0
12 el &%
hibod LS i 1116.2 962.3| 821.4 423.7 949 0.0 0.0 90.8 49.0 0.0 682.9 260 2608 @11




— R

[k

31



X MEERSF R B B H % X B R 2 K K F A .
@ & &l ® & &l 5 BE BR B% @R @b m®m @ BFOE
# . EORE 5% ® K ®E b BE 5 BB T o & A A m e xR
ot % R ; B & & = g S R 1
@ bl s 5 ® B s S - [T B | A& B ® g g BEBR X
’ #h - Fo. N = - | B t = & = = & B P - i
% *7? % m &B &B i s ﬁ IE E = _ b =] =] % = =
=1 B H = = &= & = | 5 E I = = =1
S T N = = & = S Eg 3 v n3 3 & 3 5 -
H BRERAS BRBRES ® o Hg BB B ok @\ R g FE R OSE Lp CE T e = omy
= s i P & »Mm tE A A A A ®A A HA 5 = O E b R ==
£E %R ER YFE ER ERE EE Y L o%
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
. 060010
101 K 60010 —BEE 9 £ KT
AFRAR KEEOS *FEBH 5.7/ 5.7 57 12 8.0/ 6.0 0.0 00 3 0.0 2 471 05 00 00 01 01 00 53 1 25 1 60 = 060020
= 57 5.7 5.1 47 05 00 00 01 01 00 53 1 25 1
102 K F I 5 60020 ERE L DEE K NG 60030
RE LR R L DR AFRAR 0.2 02 02 17 7.00 55 00 0.0 O 0.0 2 0.00 00 00 00 00 00 00 02 0 1 0 60 0
102 K F [ 60030 ¥ REIHA 60040
RF R AFRAR RRIAXAER 2.7 1.7 1.7 13 7.5, 6.0 0.0 00 2 0.0 2 1.3 0.4 00 00 03 03 00 07 1 10 0 40 ¢
102 KT [ A 60040 REIEA e 3 60050
AF LB RRIEAAESR mERRA 1.3 1.3 1.3 o9 6.8 55 00 00 2 0.0 2 1.2 00 00 00 00 00 00 1.3 1 6 0 40 ¢
102 K F [ A 60050 3 ek RIS 60060
RELRH HRERR RRRRE 4.2 33 32 9 7.00 55 00 00 1. 0.0 2 3.2 0.1 00 00 08 01 00 42 0 27 0 40 0
= 8.4 6.5 6.4 57 0.5 00 00 1.1 0.4 00 64 2 44 0 180
104 N 60060 ERE L DEE = A 60070
EfafaAs R L DR ZRIABRES 6.0, 3.4 038 1. 50 40 00 00 2 0.0 1 0.1 00 00 00 00 00 00 05 0 6 0 60 o
& 6.0 3.4 0.8 0.1 00 00 00 00 00 00 05 0 6 0
105 N 60070 ERE L DELE N 60080
Flfaxa RIR L DR LRSS 8.1 39 39 1. 7.00 55 0.0 0.0 O 0.0 2 0.00 00 00 00 00 00 00 46 0 1 0 60 ¢
& 8.1 39 3.9 0.00 0.0 00 00 00 00 00 46 0 11 0
107 # 60080 T 4 60090
TRE AR RESER RHRER 0.3 03 0.3 13 7.7 6.5 0.0 0.0 3. 0.0 2 0.3 01 00 00 02 01 00 03 1 2 0 60 ¢
060100
107 # 60090 5 4 ERMELDEE
TRE AR REHRER RIUR L DRE 7.2 5.1 471 8. 7.0 5.5 0.0/ 0.0 1. 0.0 2 1.7 0.1 00 00 00 00 00 30 0 12 0 60 060110
& 7.5, 5.4 50 200 0.2 00 00 02 01 00 33 1 14 0
108 FMS B H 60100 ERELDELE 060120
MIRHER RIR L DR REERR 7.2 7.00 7.0 14 7.5, 6.0 0.0 0.0 3. 0.0 2 3.9 20 00 00 03 03 00 69 0 12 0 60
& 7.20 7.0 7.0 3.9 20 00 00 03 03 00 69 0 12 0
109 ERE e 60110 THEES B LD 60130
LI el EBREORE 8.6/ 0.0 00 4 40 30 00 00 O 0.0 1 0.00 00 00 00 00 00 00 20 0 4 0 40 ¢
2 8.6/ 0.0 0.0 0.00 0.0 00 00 00 00 00 20 0 4 0
110 Bl S B 4 60120 R EE L B LD 60140
RuEWER ERERLS EER & DR 8.2/ 1.3 0.8 6. 40 30 00 00 2 0.0 1 0.1 00 00 00 00 00 00 1.1 0 8 0 60 ¢
= 8.2/ 1.3 0.8 0.1 00 00 00 00 00 00 1.1 0 8 0
s . . 060150
112 =ERTiES 60130 B = - 5T 1
RILER Sl BT m 1.7 58 1.5 . 6.0/ 3.0 0.0 00 O 0.0 1 0.0, 0.0 00 00 00 00 00 09 0 15 0 60 = 060160
112 SERTiES 60140 = - 3T i TS Q60170
RILR®R BT - IRT & L 6.9 0.5 0.4 11. 40 30 00 00 3. 0.0 1 0.00 00 00 00 00 00 00 00 0 7 0 30
112 =ERTiES 60150 TR EITFEE 60180
RILZR BILERR TR 3.2/ 0.5 00 3 3.5, 2.5 0.0 0.0 O 0.0 1 0.00 00 00 00 00 00 00 00 0 3 5 30 ¢
112 ST 60160 BITFEER [E2=3EE Q60190
RILZ®R BT AERR IFEFREBR 3.8/ 0.0 00 2 2.5, 1.5 0.0 0.0 O 0.0 1 0.0, 00 00 00 00 00 00 00 0 0 0 60
112 ERTiES 60170 | E{EES —BEE S 060200
RILRR NIFEFRBR KEEe S 8.5/ 35 0.1 09 6.00 40 00 00 O 0.0 1 0.5, 0.0 00 00 00 00 00 00 1 14 1 60
112 ERTiES C60180 = —MEHEOE (GILiE/NA/5X —BEE S 060210
RILRR KEESS (LR/IA/5R) KEEe S 0.4 04 0.4 15 9.8 88 00 1.5 3. 0.0 2 0.4 00 00 00 04 00 00 00 3 1 0 40
& 34.5 10.7 2.4 0.9 00 00 00 04 00 00 09 4 40 6
113 | R B35 60190 SEAN B LD 060220
HIPEHR B/\EE & EBREDRE 6.3 6.3 1.5 5. 55 45 00 00 0 0.0 1 000 00 00 00 00 00 00 00 0 3 0 60

32



X MEERF R B B H % X B R 2 K K F AR .
# & &l ® & 8l 5 BE BR B% @R @b m®m @ BFOE
# . EORE 5% # K ®E b BE 5 BB T o & Tom m e xR
ot % B ; B & & = g S R 1.
@ b s 5 ® B s S - [T B | A& B ® g g BEBR X
§ #h - F oL N = - | B t = & = = & B P - g
% *7? % m &B &b i s ﬁ IE EE _ b =] = % = =
R B & = % & & = 4 5 i 5 5 =
& 13 . = = 1B = g5 2 £ Y E B ; I
H BRBRAS BERBRES ® o Hg BB B ox @\ g g FE R OSE Lp CE g T e o= omy
= s i P & »Mm tE A A A A %A A HA 5 = O E b R ==
£E R ER YFE ER ERE EE Y L o%
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
& 6.3 6.3 1.5 0.00 00 00 00 00 00 00 00 0 3 0
114 SRt 60200 s REMBA B —1i 60230
FR=LR B/\EE & WA 58 7.6 3.3 30 100 7.5 60 00 00 25 00 2 1.6 0.1 00 00 00 00 00 39 1 13 0 60 ¢
114 SR 60210 RSB A 28— B LBl 60240
FR=LR WA 5~ EBREDRE 0.5 00 00 30 30 20 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 0 0 60 ¢
= 8.1 33 3.0 1.6 0.1 00 00 00 00 00 39 1 13 0
N . T 060250
115 AL 60220 —BEE 1862 AL
RiES LS BEE = BiES LA 1.6 2.9 2.9 10.7 6.5 55 00 00 20 00 2 0.1/ 0.0 0.0 00 00 00 00 00 1 7 0 60 = 060270
115 R 60230 R iR 60260
RiES LS REZALR BiESs 0.3 00 00 40 40 30 00 00 00 00 1 0.00 00 00 00 00 00 00 00 1 1 0 50 ¢
= 1.9 2.9 2.9 0.1 00 00 00 00 00 00 00 2 8 0
120 ANFEE 60240 =B Y-8 BT 60280
RINEHR WAR L ORE AR 1.2 00 00 35 35 25 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 2 0 30 ¢
& 1.2 0.0 0.0 0.00 00 00 00 00 00 00 00 0 2 0
123 # 60250 Ryt B DR 60290
HALO® SR AR £ DR 49 07 06 42 42 30 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 1 0 40 ¢
& 49 0.7 0.6 0.00 00 00 00 00 00 00 00 0 1 0
124 ENE AL 60260 —BEE 9 & 2N 14 60300
RS RIER BEEOS RSB NIR 5.3 5.2 2.9 100 40 40 00 00 30 00 1 0.00 00 00 00 00 00 00 57 0 9 0 30 ¢
124 B ELES 60270 eIl 1% BLDEE 60310
RS RIS EHSHET IR AR £ DR 2.8/ 0.3 02 50 50 40 00 00 00 00 1 0.00 00 00 00 00 00 00 09 0 5 0 30 ¢
& 18.1 5.5 3.1 0.00 00 00 00 00 00 00 66 0 14 0
152 T 4E S 60280 —BEE4 3 18 A 60320
HItHER BEE4318 HITEBRFMR 1.7 1.7 1.7 132 1.5 6.0 00 00 22 00 2 1.7 09 00 00 01 01 00 1.7 1 2 0 40 ¢
& 1.7 1.7 1.7 1.7 09 00 00 01 01 00 1.7 1 2 0
153 EE S 60290 —REE 9 & EET - #S 5 60330
RUBRRER EEEE RUEAT - T 58 1.2 1.2/ 1.2 180 9.0 80 00 00 45 00 2 1.0 0.6 00 00 1.0 06 00 00 3 4 0 40 ¢
153 EEEH 60300 &= AT 1S 060340
RUERAESR RS - T RRER 1.6 1.6/ 1.6 16.8 14.8 13.8/ 0.0 0.0 20 00 4 0.4 00 00 00 00 00 00 00 0 5 0 40
153 EE S 61500 BORE T TR 61530
RUERARER BROERS:EH RRER 0.8 0.8 07 105 59 55 00 00 23 00 2 0.1 00 00 00 01 00 00 00 0 3 0 40 0
= 3.6/ 3.6 3.5 1.5 0.6 00 00 1.1 06 00 00 3 12 0
156 P # 60310 AR I SR EE IS 60350
REREH RRRLH EAEELS 200 1.1 05 50 50 40 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 2 1 60 ¢
156 P # 60320 FREZ LS —BEE4 328 060360
ARRER AEELS HEE - 6.4 48 2.8 140 7.0 40 00 00 35 00 1 0.00 00 00 00 00 00 00 00 0 9 0 60
156 P # 60330 —BEE4 322 —BEE3 148 Q60370
REREHR BEE = HEE = 47 00 00 44 44 30 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 4 1 60
& 13.1 59 3.3 0.00 00 00 00 00 00 00 00 0 15 2
157 EREH 60340 E=TIEY = - E)I 5 060380
HEXRS HE=ER i - Bl o 0.1 01 01 60 60 55 00 00 00 00 2 0.00 00 00 00 00 00 00 00 0 1 0 60
157 EREH 60350 Zh - EJI 5 e == 1 060380
HMEXRS i - NI L BeJllEr - MR 5 1.0 09 09 70 7.0 55 00 00 00 00 2 0.00 00 00 00 00 00 00 07 0 2 0 60
. 060380~
157 EREL 60360 E)IET - = 15 EEEE LG
HEXRS B0Er - MR B BEELR 8.8/ 87 87 120 7.5 55 00 00 25 00 2 4.4/ 0.4 0.0 00 00 00 00 57 3 19 0 60 060400
o 9.9 9.7 9.7 4.4 04 00 00 00 00 00 64 3 22 0 180

33



X MEERF 5] B OB % X B R 2 K K F AR .
e S # = o $ B A% 6% m& ms @z @m KT OE
# . EORE 5% # K ®E b BE 5 BB T o & Tom m e xR
= % B . = | 8 BEy | e A = = |z | = & A
@ b s 5\ ® B s S o - s [T B | A& k B ® g g BEBR X
#h - F oL N = - | B t = & = = & B P - g
% *7? % m &B &b i s ﬁ IE E = _ b =] = % = =
= R #H = % ® & 2 % L E T = = =
% 13 . = = B = = | ¥ E E T ¥ ; :
H BRBRAS BERBRES ® o Hg BB B ox @\ g g FE R OSE Lp CE g T e o= omy
= s i P & »Mm tE A A A A %A A HA 5 = O E BB B B as
£E R ER YFE ER ERE EE Y L o%
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
. s 060410~
159 EFME 60370 —BREE 9 & INFESS
HETER BEEOS MFRER 8.8/ 4.7 20 10.7] 3.6 2 0.0 0.0 3. 0.0 1 1.3 1.20 00 00 04 04 00 18 5 21 1 30 | 060430
= 8.8/ 47 20 1.3 1.2 00 00 04 04 00 1.8 5 21 1
060440
161 2 HE R 60380 %£)I— EJIET - HEH 15
RiHEXHS - X8 Sy - B B 9.00 86 86 125/ 80 6. 0.0 0.0 3. 0.0 2 8.5 2.8 0.0 00 08 08 00 00 11 18 0 50 = 060450
161 E)IIHERS 60390 EJIET - HEH 1B IAES 60460
RiHRXHSR BIET - B R AHLARR 7.9 7.9 7.9 140 8.0 6. 0.0 00 3. 0.0 2 7.9 3.4 00 00 1.7 1.7 00 00 1 29 1 50 ¢
161 2 HE K 60400 LA RS —BEE4 318 60480
RilmExHS AHLARS KEE4315 1.7 1.7 1.7 123 1.5 5. 0.0 00 2 0.0 2 1.2 0.3 00 00 07 03 00 17 6 4 0 40 ¢
& 18.6/ 18.2 18.2 17.6. 6.5 0.0 0.0 32 28 00 1.7 28 51 1
162 TREL 60410 £ HEXME BN 60490
RHALABR s SRR 3.8/ 3.8 3.8 11.7 6.8 5. 0.0 00 3. 0.0 2 3.00 0.9 00 00 02 02 00 38 5 1 0 40 ¢
162 TREL 60420 BN —BEE S 60500
RHLABHR HEmRE KEEe S 1.2 05 03 75 50 4 0.0 00 2 0.0 1 0.2 00 00 00 00 00 00 00 1 4 0 40 o
- . . 060510
162 TR/t 60430 —REE 9 & —BEE1 8 48
RHALABR BEEOS KEE - 9.5 3.4 31 1.7 30 2 0.0, 0.0 2 0.0 1 1.6 0.0 00 00 03 00 00 00 3 17 1 40 | 060520
= 145 7.7 7.2 4.8 09 00 00 05 02 00 38 9 32 1
166 # 60440 —BEE3 7 58 SE| S 60530
SBEEH KEEE3758 IS8 6.5/ 6.5 6.5 10.5 6.8 5. 0.0 00 2 0.0 2 3.6/ 0.2 00 00 00 00 00 55 1 8 0 50 ¢
166 # 60470 SE| S SE S 60530
SMEEH B3 = IS8 0.4 04 0.4 100 7.5 6. 0.0 00 2 0.0 2 0.4 00 00 00 00 00 00 04 0 0 0 50 ¢
166 # 60450 SE| S . 1 60530
SBHEH B3 = SRARNT - SRFSHT 55 55 51 11.7 1.5 6. 0.0 00 2 0.0 2 3.3 0.1 00 00 00 00 00 55 0 3 0 50 0
166 # 60460 . b = 60530
SMER SeimAT - AT A BmRER 200 20 1.9 7.2 1.2 5. 0.0 00 O 0.0 2 0.00 00 00 00 00 00 00 20 0 5 0 50 ¢
= 14.4) 14.4 13.9 7.3 0.3 00 00 00 00 00 134 1 16 0
. . . 060540
170 2T 60480 —BEE19 18
R BEE = HEFRAR 10.7 6.1 25 9.0 40 3. 0.0, 0.0 2 0.0 1 0.8/ 0.1 00 00 01 01 00 24 0 10 0 30 | 060550
170 EF 2T 60490 R IR 60560
R 40 R HERHNHR 0.1 00 00 45 45 3 0.0 00 O 0.0 1 0.00 00 00 00 00 00 00 00 0 0 0 30 ¢
170 EF[32T 60500 - EMEET 15 60570
BT AR WET - FAFAT 5 6.2/ 4.4 43 7.0 1.0 5. 0.0 0.0 O 0.0 2 0.00 00 00 00 00 00 00 00 0 5 0 40 ¢
170 EF 32T 60510 - EFETET i —BEE 9 S 60570
HE AR WEW - RS R KEEeS 200 0.0 00 55 40 2 0.0 00 1. 0.0 1 0.00 00 00 00 00 00 00 00 0 1 0 40 0
= 19.0/ 10.5 6.8 0.8 0.1 00 00 01 01 00 24 0 16 0
17 =[BH 60520 )N —BEE19 18 60580
HEA=AH L HEE = 0.5 05 05 120 7.0 6. 0.0 00 2 0.0 2 0.5, 0.0 00 00 05 00 00 05 1 2 0 40 ¢
_ . 060590
17 =T 60530 —BEE19 18 Y EXERT T
wERA=AR BEE = SHERFRERR 9.7 9.5 9.1 13.0/ 80 5 0.0 0.0 2 0.0 2 3.00 1.3 0.0, 00 00 00 00 87 0 15 0 30 = 060600
17 =[B 60540 5 Hh i F = E 18 4 R 5 60610
HERA=AH FHRFERAN WET - REW 5 1.7 05 0.4 40 40 3. 0.0 0.0 O 0.0 1 0.00 00 00 00 00 00 00 00 0 2 0 30 0
17 =B 60550 - E 5 —BEE OB 060610
HERA=RR WA - REAW K KEEe S 3.00 0.2 01 40 40 3 0.0 00 O 0.0 1 0.00 00 00 00 00 00 00 00 0 2 0 30
_ . . 060620
17 =pBH 60560 —BREE 9 & —BEE S
HEA=AR BEEOS KEEe S 7.9 49 41 11.20 1.0 5. 0.0, 0.0 2 0.0 2 2.6/ 0.1 00 00 06 01 00 37 1 21 0 40 | 060640
17 =B 60570 —BEE19 18 el 455 060630
HERA=AH BEE = TOMhE & R 0.4 04 0.4 145 7.5 6. 0.0 00 3. 0.0 2 0.4 0.4 00 00 04 04 00 00 1 2 0 40
= 23.2 16.0 14.6 6.5, 1.8 00 00 1.5 05 00 129 3 44 0
172 # 60580 —BEE19 18 060650
RALRS BEE ~ LR 211 0.9 02 1.5 45 3 0.0 00 1. 0.0 1 0.1 00 00 00 00 00 00 20 0 5 0 30

34



X MEERF R B B H % X B R 2 K K F AR .
# & &l ® & 8l 5 BE BR B% @R @b m®m @ BFOE
# . EORE 5% # K ®E b BE 5 BB T o & Tom m e xR
ot % B ; B & & = g S R 1.
@ b s 5 ® B s S - [T B | A& B ® g g BEBR X
§ #h - F oL N = - | B t = & = = & B P - g
% *7? % m &B &b i s ﬁ IE EE _ b =] = % = =
= R #H = % ® & 2 % L E T = = =
% 13 . = = B = = | ¥ E E T ¥ ; :
H BRBRAS BERBRES ® o Hg BB B ox @\ g g FE R OSE Lp CE g T e o= omy
= s i P & »Mm tE A A A A %A A HA 5 = O E b R ==
£E R ER YFE ER ERE EE Y L o%
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
172 # 60590 —REE 4 = 60660
RALRS RALRA KEEs88% 3.00 00 00 7.0 70 25 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 4 0 30 ¢
172 # 60610 B 60660
RALRS REB)8R LR 9.5, 0.0 00 45 40 30 00 00 05 00 1 0.00 00 00 00 00 00 00 02 1 14 1 60 ¢
172 # 60600 FlIE 60650
RALRH RALRS =R 3.1 0.8 00 45 45 35 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 4 0 30 ¢
= 17.7, 1.7 0.2 0.1 00 00 00 00 00 00 22 1 27 1
174 =E 1845 60620 moREaEIHKA EE I 60670
ATEXENFRSHR BROERS:EH HHAFERESR 0.6 01 01 35 35 30 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 6 0 40 ¢
174 T3 = B 154 60630 =184 —BEE 9 S 60680
TEXENERESHR HMATEEAR KEEe S 26/ 26 1.9 123 65 55 00 00 35 00 2 1.4 04 00 00 02 02 00 21 2 5 0 40 0
174 P =E 184 60640 —BREE 9 & SHRILAES 60690
ATEXBEMERSR REEOS RlaER 0.6 0.6 0.6 160 100 90 00 00 35 00 2 0.6 05 00 00 06 05 00 00 2 2 0 60 ¢
L 3.8/ 33 26 200 09 00 00 08 07 00 21 4 13 0
s . . 060700
175 BREAEERS 60650 AT \TRE
BRRERR WIESRANK WITESRRNR 6.2/ 6.2 6.0 125 7.5 6.0 00 00 25 00 2 5.4 0.7 00 00 09 07 00 56 2 15 0 40 | 060710
= 6.2/ 6.2 6.0 54 0.7 00 00 09 07 00 56 2 15 0
176 BKRELS 60660 —BEES 48 ERHES 60720
BERRR BEES 45 HERHEE 51 34 10 50 50 40 00 00 00 00 1 0.00 00 00 00 00 00 00 00 1 7 0 60 ¢
176 B RELS 60670 ERHEY —BREE3 148 60730
BEARR HERHES BEES 145 49 31 2.7 11.00 68 55 00 00 25 00 2 2.2/ 0.3 00 00 00 00 00 29 0 13 0 60 ¢
. 060740
176 B KRELS 60680 —BEES 148 EEEEILE
BEARR BEE = AEELS 7.7 4.2 37 100 50 40 00 00 25 00 1 1.0 0.1 00 00 00 00 00 00 1 18 1 40 | 060750
176 B RELS 60685 BKREL 60755
BEARR BEARR 0.1 01 01 88 68 55 00 00 20 00 2 0.1 00 00 00 00 00 00 00 0 2 0 50 ¢
= 17.8/ 10.8 7.5 3.3 0.4 00 00 00 00 00 29 2 40 1
s - s 060760
177 pb=£7 60690 3T H - 5T 1
REFBTER REHITH REH m R 7.7 1.4 1.5/ 87 52 42 00 00 25 00 1 0.6/ 00 00 00 00 00 00 7.6 0 8 0 40 | 060770
177 p=£7 60700 - 3T b | EfEEES 60780
REFBTER KREW - TET R NFEFRRR 6.6/ 6.6 2.8 120 7.5 60 00 00 25 00 2 2.1/ 01 00 00 03 01 00 63 0 22 0 60 0
177 p=£7 60710 | F{EES EFEES 60780
REFBTER NFEFRRR Sl 200 20 1.5 11.0 7.5 60 00 00 25 00 2 1.1 02 00 00 00 00 00 20 1 9 0 60 0
177 pib=£7 60720 RS —BEE O S Q60780
REFBTER il KEEe S 0.2 02 0.2 150 100 90 00 00 25 00 2 0.2 00 00 00 02 00 00 02 0 1 0 60
= 16.5| 16.2 6.0 40 03 00 00 05 01 00 161 1 40 0
179 2R E R 60730 = b E 60790
RiRZHERS PR G 146 7.1 65 85 70 55 00 00 1.5 00 2 1.3 0.0 00 00 00 00 00 42 0 14 0 60 0
179 2SR R R S 60740 RENBA B —4 B 060800
RRZHRDR WA 58 KERAAIL 7.4 45 3.8 134 80 55 00 00 25 00 2 0.00 00 00 00 00 00 00 67 0 6 0 60
179 2 SR E A 60750 EiL iy —EEE 1868 Q60800
RiRZHERS KERAAIL HEE = 9.7 7.9 38 90 70 55 00 00 20 00 2 1.5 0.0 00 00 00 00 00 7.8 0 14 0 60
179 2SR R R S 60760 2 SR LR E A A = Q60810
RiRSZHERS RRZHRRS mEA R R LR 1.6 1.6/ 1.6 98 65 55 00 00 08 00 2 1.4 00 00 00 07 00 00 00 8 17 0 50
= 33.3 21.1 15.7 42/ 00 00 00 07 00 00 187 8 51 0
180 HAT B 60770 AR —BEE S 060820
RS RRARLH EEe S 6.2/ 6.2 6.2 18.2 125 55 7.0 0.0 40 00 2 3.00 1.3 00 00 02 02 00 58 4 26 0 40
& 6.2l 6.2 6.2 3.00 1.3 00 00 02 02 00 58 4 26 0
181 HEERRS £60780 RO R (R BITFRER 060830
tEERLER BROERS:EH TR 75, 0.0 00 30 30 20 00 00 00 00 1 000 00 00 00 00 00 00 00 0 0 0 60

35



X MEERF R B B H % X B R 2 K K F AR .
e S # = o $ B A% 6% m& ms @z @m KT OE
# . EORE 5% # K ®E b BE 5 BB T o & A A m e xR
. N _ = | g = = s o = 7 A
@ ] o B LB, & ®EO8 K . wE _E BE ' _® @ & & #x B EY
#h - F oL N = - | B t = & = = & B P - g
% *7? % m &B &b i s ﬁ IE EE _ b =] = % = =
= R #H = % ® & 2 % L E T = = =
% 13 . = = B = = | ¥ E E T ¥ ; :
z BRBGES BHBRES # o mm W W R p sE T E PR el B R r D% B
= s i P & »Mm tE A A A A %A A HA 5 = O E b R ==
E #EFE ®BE YE BE =R #EE Y L of
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
181 BEEER 60790 EITREE 1% 60840
tRERkER BT AERH RERRA 29, 1.0 00 50 50 35 00 00 O 0.0 1 0.00 00 00 00 00 00 00 00 0 2 0 30 ¢
= 0.4 1.0 0.0 0.00 00 00 00 00 00 00 00 0 2 0
182 £ s 60800 SORAEITRE A3 60850
ZERG BROERSEHA HITEB=RRR 1.8 1.5/ 1.5 130/ 80 55 00 00 2 0.0/ 2 0.6 0.0 00 00 00 00 00 18 0 7 0 30 ¢
= 1.8 1.5 1.5 0.6 0.0 00 00 00 00 00 18 0 7 0
183 e # 60810 —EEEOS I B 60860
LI E&# BEEOS B R 220 2.2 22 156 7.0 55 0.0 00 4. 0.0 2 2220 2.2 00 00 22 22 00 00 3 9 0 40 ¢
. 060870
183 EIIIN=E" 60820 | g EREH
LI E &R BIEEsRE HEARE 58/ 2.5 21 95 7.0 60 00 00 2 0.0 2 0.5/ 0.1 0.0 00 00 00 00 00 0 11 0 40 | 060890
183 e # 60830 | BE =4 el 60880
LI ER# B IRERE s SRIRLE 0.7 07 07 141 7.5 60 00 00 3. 0.0 2 0.4 00 00 00 00 00 00 00 0 1 0 50 ¢
& 8.7 54 50 3.1 23 00 00 22 22 00 00 3 21 0
184 S £ [ 4 60840 ETMY o - 2%l 1% 60900
FRERSR HETRR THAT - SR 1.4 1.4 1.3 160 9.0 6.0 00 15 3 0.0 2 1.3 1.0 00 00 1.1 10 00 00 3 9 1 50 ¢
184 B 60850 o Il i —EEEoS 60910
FRERS FEET - R 5 KEEe S 45 45 40 11.00 65 55 00 00 2 0.0 2 40 01 00 00 06 01 00 09 9 27 0 50 ¢
& 59/ 59 53 53 1.1 00 00 1.7 1.1 00 09 12 36 1
185 = # 60860 —EEES 42 = . 1 60920
NEERR BEES 45 7)ERT - T 55 36 1.3 7.5 50 40 00 00 2 0.0 1 0.7/ 00 00 00 00 00 00 00 1 8 0 60 ¢
185 = # 60870 = . s = cHHET B 60930
NEEDR JVERT - e EHHT w - HET R 0.1 00 00 54 54 44 00 00 O 0.0 1 0.00 00 00 00 00 00 00 00 0 0 0 60 ¢
185 = # 60880 = CHEH H 5 60930
NEEDR R - AT B TR & R 0.6 00 00 1.0 10 05 00 00 O 0.0 1 0.00 00 00 00 00 00 00 00 0 0 0 60 ¢
185 = # 60890 & e ; &1 60940
NEEDR TOMEER & R HIEE S8 8.8/ 36 1.0 38 38 28 00 00 O 0.0 1 0.00 00 00 00 00 00 00 00 0 13 0 30 ¢
185 = # 60900 HEE S —BEE1 8 48 60950
NEEDR RS BEE1845 121 4.2 3.1 101 3.8 28 00 0.0 3 0.0 1 200 1.1 00 00 00 00 00 00 1 15 0 40 ¢
= 27.1 11.4 5.4 2.7 1.1 00 00 00 00 00 00 2 36 0
186 # 60910 —EEE37 58 . 1% 60960
RAXRE KEE3755 SRHRNT - KB 54 36 3.6 129 7.0 55 00 00 3. 0.0 2 0.6 0.0 00 00 00 00 00 39 1 12 0 40 ¢
186 # 60920 . i ~ EE B R 260970
RAXRE SAmAT - KEW B Caam® 2.5/ 2.4 23 142 1.5 55 00 00 2 0.0 2 1.4 0.1 00 00 00 00 00 00 1 8 0 30
= 7.9 6.0 59 200 01 00 00 00 00 00 39 2 20 0
187 [ R 60930 B2 NAlESS 60980
EXRH NEREH AlRI%S 0.4 03 03 65 65 60 00 00 O 0.0 2 0.00 00 00 00 00 00 00 04 0 3 0 40 ¢
187 [ R 60940 NeAllES 2T H 260980
EXR® AR IAR RERIR 0.0, 4.4 3.8 100 7.5 55 00 0.0 2 0.0 2 0.7/ 0.0 00 00 00 00 00 60 0 6 0 40
= 10.4 4.7 4.1 0.7 0.0 00 00 00 00 00 64 0 9 0
189 rs 60950 EBEEY REESHHERIE - RS L B 260990
ERZERSR ERER® R RHERE - IR 6.9 1.7 1.5 40 40 25 00 00 O 0.0 1 0.00 00 00 00 00 00 00 26 0 4 0 30
189 514 060960 | & EBMSHERIE - IR & 26 - EMEET B Q61000
ERZERR RARRGHRRE - PR L 6 WE - BT 5 200 00 00 1.5 15 05 00 00 O 0.0 1 0.00 00 00 00 00 00 00 00 0 0 0 60
189 54 60970 - EFEET 1B RITE & Q61000
ERZRSH WEW - R B PERRDEL R 0.7 00 00 1.5 15 05 00 00 O 0.0 1 0.00 00 00 00 00 00 00 00 0 0 0 60
189 514 60980 K& LG —BEE1 878 Q61010
ERZRSR FEERSEC R HEE = 12.8 2.9 1.7 57 40 3.0 00 0.0 1. 0.0 1 0.2/ 0.1 00 00 00 00 00 00 0 5 0 30
o 224 46 3.2 0.2 01 00 00 00 00 00 26 0 9 0

36



X MEERF R B B H % X B R 2 K K F AR .
# & &l ® & 8l 5 BE BR B% @R @b m®m @ BFOE
# . EORE 5% # K ®E b BE 5 BB T o & Tom m e xR
ot % B ; B & & = g S R 1.
@ b s 5 ® B s S - [T B | A& B ® g g BEBR X
§ #h - F oL N = - | B t = & = = & B P - g
% *7? % m &B &b i s ﬁ IE EE _ b =] = % = =
R B & = % & & = 4 5 i 5 5 =
& T . = = L= = B | & i Y T o, . R
& EEBRES EEBRE ® o Hg BB Bor B R ; Lz b EPE gm Rk , S0 E By
= s i P & »Mm tE A A A A %A A HA 5 = O E b R ==
E #EFE ®BE YE BE =R #EE Y L of
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
190 B B = B i g 60990 wORAE-ITRE —EEEoS 61020
REF RS BROERS:EH KEEeS 0.4 04 00 70 70 52 00 00 00 00 1 000 00 00 00 00 00 00 04 0 3 1 40 ¢
= 0.4 0.4 00 000 00 00 00 00 00 00 04 0 3 1
191 ER{EE IS 61000 SORAEITRE BT REE 61030
REFRESH BROERS:EH BT RERRA 0.8 08 03 91 57 47 00 00 15 00 1 021 00 00 00 02 00 00 08 3 5 0 40 0
191 § R {EE IS 61010 EITREE EE 61040
REFRESR BT EEH RUBRBER 0.4 04 04 169 90 80 00 00 40 00 2 0.4 04 00 00 04 04 00 00 1 2 0 40 ¢
= 1.2 1.2 0.7 0.6 04 00 00 06 04 00 08 4 7 0
192 AREA:E 61020 BORAEITRA —EEEoE 61060
RITERSR BROERS:EH KEEe S 1.0 0.8 00 50 50 40 00 00 00 00 1 0.0/ 00 00 00 00 00 00 00 1 8 0 40 0
= 1.0 0.8 0.0 0.0/ 00 00 00 00 00 00 00 1 8 0
193 = B 1548 61030 BORAEITRA STARE 61070
DAFRSH BROERS:EH HITRRSR 0.1 01 01 131 91 7.5 00 00 40 00 2 0.1 01 00 00 00 00 00 00 1 0 0 30 o
& 0.1 0.1 0.1 0.1 01 00 00 00 00 00 00 1 0 0
194 D RS E I 61040 BOREEITRA EMARBRSRE A 61080
RERR SRS BROERS:EH IRERT2 AT 45228 0.2 02 00 60 60 50 00 00 00 00 1 000 00 00 00 00 00 00 02 0 2 0 40 ¢
194 &SRR IR £62070 RIABETRRE S —HREE 9 S 62230
EERRFEAN IBFRT2A RO EEe S 0.2 02 02 60 60 50 00 00 00 00 1 000 00 00 00 00 00 00 02 0 2 0 30 ¢
194 F R RS I 61065 CIREE | —BEEOS 61105
EERAFREAR EAEELS KEEe S 0.2/ 01 01 148 99 89 00 00 1.4 00 2 0.1 00 00 00 01 00 00 00 2 1 0 50 ¢
L 0.6 05 0.3 0.1 00 00 00 01 00 00 04 2 5 0
195 REEESY 61050 ROEBSELIEIRA —BEEOE 61090
EFESH BROERZ1I38 KEEe S 0.4 04 01 84 60 50 00 00 12 00 1 0.3 00 00 00 03 00 00 01 2 8 0 40 ¢
= 0.4 0.4 0.1 0.3 00 00 00 03 00 00 01 2 8 0
196 B IS 61060 BORAEITREA —EEEoE 61100
ERFRESH BROERSEH KEEe S 0.5, 05 00 62 62 50 00 00 00 00 1 0.0/ 00 00 00 00 00 00 00 1 5 0 30 ¢
= 0.5 0.5 0.0 0.0/ 00 00 00 00 00 00 00 1 5 0
197 RE T B 61070 —EEES 42 EREH 61110
ARETFRSH BEES 45 HEARE 51/ 3.8 35 120 7.0 55 00 00 25 00 2 2.2/ 000 00 00 00 00 00 00 1 18 0 60 ¢
. . 061120
197 RET =SS 61080 E) L —EEEoS
ARETFRSHR Il E &8 KEEeS 10.6 8.4 65 120 50 40 00 00 35 00 1 500 2.1 0.0 00 1.0 10 00 61 3 27 0 40 | 061140
197 RET SIS 61090 —EEEOS BORAEITRA 61130
ARETHESH REEOS BROERFIERR 1.8 1.8 07 7.9 67 50 00 00 1.2 00 1 0.1 00 00 00 00 00 00 00 0 11 0 50 ¢
& 17.5 14.0/ 10.7 7.3 21 00 00 1.0 10 00 61 4 56 0
198 INE{EE IS 61100 INEEE IS —BEE 9B Q61150
hEFEBR BN EEEAR KEEe S 0.2/ 0.2 02 170, 80 60 00 00 40 00 2 020 02 00 00 00 00 00 00 1 2 0 60
= 0.2 0.2 0.2 0.2l 02 00 00 00 00 00 00 1 2 0
199 EEESY 61110 AL SIS Q61160
BHEFRSHR AHIARSR BRIAHER 0.3 03 03 7.2 7.2 62 00 00 00 00 2 0.0/ 00 00 00 00 00 00 03 1 3 0 30
= 0.3 03 03 0.0/ 00 00 00 00 00 00 03 1 3 0
200 — F =I5 61120 SORAE-ITRE —EEE oS Q61170
CrEEsR BROERS:E# KEEe S 0.6 0.3 03 1.5 65 55 00 00 25 00 2 0.1 00 00 00 00 00 00 06 1 6 1 40
& 0.6 03 03 0.1 00 00 00 00 00 00 06 1 6 1
201 BREEISERS 61140 —EEEOS BBEHEISERLS Q61180
HBEFRHEHR REEOS AEFEHER 0.3 01 01 48 28 1.8 00 00 20 00 1 000 00 00 00 00 00 00 00 1 1 0 50

37



X MEERF B OB % X B R 2 K K F AR .
# & &l ® & 8l 5 BE BR B% @R @b m®m @ BFOE
# . EORE 5% # K ®E b BE 5 BB T o & Tom m e xR
ot % B ; B & & = g S R 1.
@ b s 5 ® B s S - [T B | A& B ® g g BEBR X
§ #h - F oL N = - | B t = & = = & B P - g
% *7? % )5 m &B &b i B ﬁ IE EE _ b =] = % = p==%
% gz R #o_ 0 -  w| . ¥ K & B 5 : Ya s X By E %% : R
H BRBRAS BERBRES ® o Hg BB B ox @\ g g FE R OSE Lp CE g T e o= omy
= s i P & »Mm tE A A A A %A A HA 5 = O E BB B B as
E #EFE ®BE YE BE =R #EE Y L of
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
201 SREEISERE 61130 SREHEIBARE BEREEISERS 61190
AEFRHELR AEFRSAIR AEFRHER 1.8 1.9 1.1 7.7 35 2 0.0 00 2 0.0 1 0.0/ 00 00 00 00 00 00 00 1 9 0 40 ¢
= 121 2.0 1.2 000 00 00 00 00 00 00 00 2 10 0
202 R R EEIR 61150 —EEEOS —EEEoS 61200
R AR BEEOS KEEe S 1.8 1.1 0.8 86 6.6 5 0.0 00 1. 0.0 2 0.4 00 00 00 04 00 00 17 1 6 0 30 ¢
= 1.8 1.1 0.8 0.4 00 00 00 04 00 00 17 1 6 0
203 SNAEE IS 61160 BORAE-ITRE —EEEoS 61210
BREAFRSN BROERS:EH KEEe S 1.7 0.6 0.5 10.0 7.5 6. 0.0 00 2 0.0 2 0.4 00 00 00 00 00 00 10 0 5 0 30 ¢
& 1.7 0.6 0.5 0.4 00 00 00 00 00 00 10 0 5 0
204 =FUNCS=R R 61170 BORAEITRA —EEE oS 61220
RIFRBH BROERS:EH EEe S 0.7 0.1 0.1 44 44 3 0.0 0.0 O 0.0 1 0.0/ 00 00 00 00 00 00 00 1 5 0 30 ¢
& 0.7 0.1 0.1 0.0/ 00 00 00 00 00 00 00 1 5 0
205 EFEEISY 61180 ROEBSELIEIRA —BEEOE 61230
SRFEBE BROER 138 KEEe S 0.00 00 00 61 61 5 0.0 00 O 0.0 1 0.0/ 00 00 00 00 00 00 00 1 1 0 60 ¢
= 0.00 0.0 0.0 0.0/ 00 00 00 00 00 00 00 1 1 0
206 W= E IR 61190 BORAEITERA —EEEoE 61240
RFFEBE BROERS:EH EEe S 0.3 0.1 00 54 54 3 0.0 00 O 0.0 1 000 00 00 00 00 00 00 00 0 3 0 30 0
= 0.3 0.1 0.0 000 00 00 00 00 00 00 00 0 3 0
207 FEE I 61200 SORAEITRE —EEEoS 61250
THERSH BROERSE# KEEe S 0.1 0.1 00 45 45 3 0.0 00 O 0.0 1 000 00 00 00 00 00 00 00 0 2 0 60 ¢
& 0.1 0.1 0.0 000 00 00 00 00 00 00 00 0 2 0
208 EMEERS 61210 BOREEITRA —EEE oS 61260
BFEaE BROERS:EH EEe S 0.7 0.7 0.7 200 11.0/ 10. 0.0 00 4 0.0 2 0.7 05 00 00 07 05 00 07 5 2 0 30 0
& 0.7 0.7 0.7 0.7 05 00 00 07 05 00 07 5 2 0
. . 061270
209 AR 61220 SORAEITRE —EEEOS
FEREFRESR BROERS:EHR KEEe S 0.7 0.1 01 11.0 7.1 4 0.0 0.0 1. 0.0 1 0.3 00 00 00 01 00 00 03 1 6 1 40 | 061280
2 0.7 0.1 0.1 0.3 00 00 00 01 00 00 03 1 6 1
210 BRIk R e 61230 BORAEITERA —EEEoE 61290
AR BROERS:EH KEEeS 0.2/ 0.1 01 7.5 1.5 6. 0.0 00 O 0.0 2 0.0/ 00 00 00 00 00 00 00 1 1 0 40 ¢
= 0.2/ 0.1 0.1 0.0/ 00 00 00 00 00 00 00 1 1 0
211 SRS 61240 SORAEITRE =845 61300
PR BROERSEH HEA=RA 0.1/ 0.1 01 105 7.5/ 7. 0.0 00 1. 0.0 2 0.1 00 00 00 01 00 00 01 0 2 0 40 ¢
211 SRS 61250 =84 —EEEOS Q61310
PR HRA=RR KEEe S 0.8/ 0.8 0.8 109 6.9 5 0.0 00 2 0.0 2 0.8/ 01 00 00 01 01 00 08 1 5 0 40
= 0.9 09 09 0.9 01 00 00 02 01 00 009 1 7 0
212 FlR =Rt 61260 wORAE-ITRE =84 261320
R F RS BROERS:EH HEA=RR 0.8 0.7 03 85 85 3 0.0 00 O 0.0 1 000 00 00 00 00 00 00 00 0 6 0 60
= 0.8 0.7 0.3 000 00 00 00 00 00 00 00 0 6 0
213 SIS 61270 SORAEITRE —EEE1918 261330
BREEBR BROERS:EH HEE = 0.2/ 00 00 32 32 2 0.0 00 O 0.0 1 000 00 00 00 00 00 00 00 0 2 0 30
& 0.2 00 0.0 000 00 00 00 00 00 00 00 0 2 0
214 i =E IS 61280 BOREEITRA EXEH 261340
T EEAR BROER S HMEARR 0.2 02 02 120 9.0 5 0.0 00 1. 0.0 2 0.1 00 00 00 01 00 00 00 1 3 0 40

38



X MHERF E B ®# m F X B R £ K K F RESYK .
# & &l ® & 8l 5 BE BR B% @R @b m®m @ BFOE
# . EORE 5% # K ®E b BE 5 BB T o & Tom m e xR
= % B . = | 8 BEy | e A = = |z | = & A
@ b s ® B s S - [T B | A& B ® g g BEBR X
" i Ao O O ® = G o & B @ ~ _ i
% *7? % )5 m gl‘ gl“ i B ﬁ IE EE _ b =] = % = §£
% gz R #o_ 0 -  w| . ¥ K & B 5 : Ya s X By E %% : R
H BRBRAS BERBRES ® o Hg BB B ox @\ g g FE R OSE Lp CE g T e o= omy
= 5 R R & »Mm tE A A A A %A A HA 5 = O z * » R oas
E R #E VE #E ®5E #E y L ox
km) | Ckm) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | km) | (km) | (km) = (km) | Ckm) | (km) = (km) (km/h)
i 0.2 0.2 0.2 0.1 00 00 00 01 00 00 00 I 3 0
215 RIEE 5 C61290 BORAE LA RRARE 61350
ARERBR BHROE R = (3 RRARER 0.1 0.1 01 161 91 75 00 00 35 00 2 0.1 01 00 00 01 01 00 00 I 1 0 60 °
i 0.1 0.1 0.1 0.1 01 00 00 01 01 00 00 I 1 0
216 G 154 C61300 EOREE-ITRA R AR 61360
TAHRERSHE BROE R T= (348 RRARR 0.1 0.0 00 56 56 40 00 00 00 00 1 0.0 00 00 00 00 00 00 00 0 3 0 60
i 0.1 0.0 0.0 0.0 00 00 00 00 00 00 00 0 3 0
217 ERAEEIRE C61310 BORAE L8 61370
HEREERER BEROE R &= 3 RS 2R 0.1 0.1 01 360 280 230 00 25 40 00 4 0.1 01 00 00 01 01 00 00 0 2 0 60 °
i 0.1 0.1 0.1 0.1 01 00 00 01 01 00 00 0 2 0
218 [F==E=ET C61320 BORSEIZ&A —BEE3 148 61380
RS BROB R =3 REES 145 0.0 0.0 00 140 100 9.0 00 00 40 00 2 0.0 00 00 00 00 00 00 00 0 1 0 60 °
i 0.0 0.0 0.0 0.0 00 00 00 00 00 00 00 O 1 0
221 [Rat=3:-2>F% C61330 =P =1 —BEE26 18 61390
NIFERER RILRER — = 0.2 0.2 00 55 55 50 00 00 00 00 1 0.0 00 00 00 00 00 00 02 I 0 0 60
221 (=1 61340 —BEE26 18 T 61400
NIFERBR R = REFELRER 39 06 04 7.1 40 30 00 00 31 00 1 0.1 00 00 00 00 00 00 00 0 10 0 60 °
221 | FEESE C61350 T3 —REE 0 2 61410
NIFERBR REFETRER REESS 25 02 02 75 45 30 00 00 1.5 00 1 0.0 00 00 00 00 00 00 00 0 8 0 60 °
221 [Rat=3:-2>F" C61360 —BEE26 15 & & 61420
NIFERBR — = TOMERE 1.9 1.8 0.8 106 81 40 00 00 25 0.0 1 0.8 0.2 00 00 00 00 00 00 0 2 0 50
i 8.5 2.8 1.4 0.9 02 00 00 00 00 00 02 I 20 0
222 I AEEISES C61370 BORAE LA ~ R 61430
NIAERER BEROE R E = 3 CreEms 0.2 0.2 00 100 100 50 00 25 00 00 1 0.0 00 00 00 00 00 00 00 0 5 0 0
i 0.2 0.2 00 0.0 00 00 00 00 00 00 00 0 5 0
223 = 515 45 C61380 BORAE L8 E —fREE 0 2 61440
FRIRH RIS BEROE R =3 REECS 0.2 0.2 00 70 61 48 00 00 09 00 1 0.2 00 00 00 00 00 00 02 0 2 0 0 °
i 0.2 0.2 00 0.2 00 00 00 00 00 00 02 0 2 0
224 EEEES C61390 BORSEIZ&A —BEE S 61450
HR 568 BEROR R 1= 3 REESS 0.1 0.1 00 50 50 45 00 00 00 00 1 0.0 00 00 00 00 00 00 00 I 0 0 0
i 0.1 0.1 0.0 0.0 00 00 00 00 00 00 00 I 0 0
225 E=EISH C61400 EOREE - TRA —BEE S 061460
RREREHR BROE R ET= 3 REESS 1.2 1.2 00 7.5 64 44 00 00 1.1 00 I 0.4 00 00 00 00 00 00 00 0 3 0 30
i 1.2 1.2 0.0 0.4 00 00 00 00 00 00 00 0 3 0
226 ; P E 5 061410 5 74 HEE -} 3 1= 61470
MARHE 2GR R R = RAT - R R 47 25 25 70 170 55 00 00 00 00 2 0.0 00 00 00 00 00 00 00 0 2 0 0
226 EHMGEEISS C61420 EEET - EABET 1B —BEE = 61470
MARHE 2GR S HET - RAE R REESS 7.2 6.4 3.7 100 80 60 00 00 20 00 2 0.0 00 00 00 00 00 00 38 0 6 0 s
226 EMGEEISS C61430 —BEEo S 061480
MARHE EREHR REH S ARHIT 67 1.5, 1.5 0.5 65 65 42 00 00 00 00 I 0.0 00 00 00 00 00 00 1.4 0 2 0 30
226 ENGEEISS C61440 S Ealsrs SORAEITERA 061490
MARHE 2GR FRIF R BHROE R H T (3 0.2 0.2 02 1.4 7.3 60 00 00 1.8 00 2 0.2 00 00 00 02 00 00 02 0 2 0 40
i 3.6/ 10.6 6.9 0.2 00 00 00 02 00 00 54 0 12 0
227 NI LA B R EESS C61450 BORAE L8 \T 061500
T LA LIRS R B 6 BRI &= 3 TR &R REIR 1.0 1.0 0.8 145 100 9.0 0.0 00 20 0.0 2 0.8 00 00 00 06 00 00 1.0 5 7 0 40

39



X MEERF B B ¥ H % X B R 2 K K F AR .
# & &l ® & 8l 5 BE BR B% @R @b m®m @ BFOE
# . EORE 5% # K ®E b BE 5 BB T o & Tom m e xR
= % B . = | 8 BEy | e A = = |z | = & A
@ b s ® B s S - [T B | A& B ® g g BEBR X
" o 5w 0% 'L B K = B o= = & B @ L o
% *7? % m gl‘ gl“ i s ﬁ IE EE _ b =] = % = p==%
= B & = % ® # % : 3 = = =
£ = = = ] = [ = n3 % n3 3 i 3 HE N ™
- BRBREE BBRES # oodm BB Bk o\ og r B PR gE E R s 2% g
= s i P & »Mm tE A A A A %A A HA 5 = O E BB B B as
E #EFE ®BE YE BE =R #EE Y L of
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
& 1.0 1.0 0.8 0.8f 00 00 00 06 00 00 10 5 7 0
228 (= B 5 61460 —EEE4318 MBS Q61510
TR BEE = MFRRR 0.3 0.3 03 120 9. 6.2 00 1.5 1. 0.0 2 0.3 00 00 00 03 00 00 03 1 5 0 40
& 0.3 03 03 0.3 00 00 00 03 00 00 03 1 5 0
229 e 3 61470 BORAEITRA 2 [ i 61520
ZRER BROERZ1I38 RABZER 0.5 0.5 0.4 120 7. 6.00 00 00 2 0.0 2 0.3 00 00 00 03 00 00 00 1 9 0 40 ¢
229 e 3o 61480 = 3 [ 7 S i —EEEoS 61520
ZXRES RADZRE KEEe S 0.1 0.1 01 17.6 126 11.6 00 00 2 0.0 4 0.1 00 00 00 01 00 00 00 1 1 0 40 ¢
& 0.6 0.6 05 0.4 00 00 00 04 00 00 00 2 10 0
230 - =E 61490 B e —EEEoS 61540
RARER RUBRRER KEEe S 1.6 1.6 1.6 10.6 6. 56, 00 00 2 0.0 2 1.4 0.0 00 00 04 00 00 00 2 13 0 40 ¢
& 1.6 1.6 1.6 1.4 0.0 00 00 04 00 00 00 2 13 0
232 Pt 61510 BORAEITRA e 61550
hFEER BROER 138 BN—MAHR 0.5 0.2 00 65 4 40 00 00 2 0.0 1 000 00 00 00 00 00 00 05 0 2 0 40 ¢
232 Pt 61520 =)I— 2 3h < 49 61560
hFRER B MK Rk 50/ 50 50 13.5 7. 6.00 00 00 2 0.0 2 50 1.3 00 00 1.5 1.3 00 50 5 23 0 40 ¢
. \ . 061560~
232 INMEE 61530 i3y =t 4 —REE4 318
hMFRER BiRER HEE = 0.8/ 0.8 0.8 160 9. 6.0, 0.0 1.5 3. 0.0 2 0.8/ 0.8 0.0 00 08 08 00 03 3 7 0 40 | 061580
= 6.3 6.0/ 5.8 58 21 00 00 23 21 00 58 8 32 0
233 HE 61540 SORAEITRE 3 = E IS4 61590
AFER BROERSEH BEAFFEBE 0.1 0.1 00 65 6 55 00 00 O 0.0 2 000 00 00 00 00 00 00 00 0 2 0 40 ¢
& 0.1 0.1 0.0 000 00 00 00 00 00 00 00 0 2 0
234 % b 61550 BOREEITRA —EEE oS 61600
EtEEs BROERS:EH EEe S 0.8 0.3 02 82 6 2.4, 00 00 1. 0.0 1 0.2f 00 00 00 00 00 00 00 1 5 1 30 ¢
& 0.8 0.3 02 0.2l 00 00 00 00 00 00 00 1 5 1
235 et 61560 BOREEITRE —EEE oS 61610
trR& BROERS:EHR KEEe S 0.4 0.4 04 120/ 9. 6.0, 00 1.5 1. 0.0 2 0.4 00 00 00 04 00 00 00 1 3 0 40 ¢
2 0.4 04 0.4 0.4 00 00 00 04 00 00 00 1 3 0
236 B R 61570 WORAEITRE BRI R 61620
BREEN BROERS:EH BR RS 0.5 02 01 7.2/ 1. 52/ 00 00 O 0.0 1 000 00 00 00 00 00 00 00 0 4 0 30 ¢
= 0.5 0.2 0.1 000 00 00 00 00 00 00 00 0 4 0
237 =R/ 61580 BOREEITRA 2 NS IR 61630
RIER BROERSEH RUFEBR 0.5 01 01 7.0 7. 3.3 00 00 O 0.0 1 000 00 00 00 00 00 00 00 0 12 0 30 ¢
= 0.5 0.1 0.1 000 00 00 00 00 00 00 00 0 12 0
238 ST 61590 BORAE-ITRE —EEE oS Q61640
i BROERS:EH KEEe S 1.2 1.2 1.0 10.2] 6. 55 00 00 1. 0.0 2 0.6 00 00 00 00 00 00 00 0 9 0 30
& 1.2 1.2 1.0 0.6f 00 00 00 00 00 00 00 0 9 0
239 = e 61600 SORAEITRA —EEEoS Q61650
RS BROERS:EH EEe S 1.0 0.0 0.0 49 4 3.4 00 00 O 0.0 1 0.0/ 00 00 00 00 00 00 00 1 13 0 30
& 1.0 0.0 0.0 000 00 00 00 00 00 00 00 1 13 0
240 SRR ES 61610 WO EE TS —REEO S 61660
RREs BROERS1I38 KEEe S 0.2 02 02 88 8 55 00 1.7 O 0.0 2 0.0/ 00 00 00 00 00 00 00 1 2 0 40 ¢
o 0.2 02 0.2 000 00 00 00 00 00 00 00 1 2 0

40



X MEERF 5] B OB % X B R 2 K K F AR .
# & &l ® & 8l 5 BE BR B% @R @b m®m @ BFOE
# . EORE 5% # K ®E b BE 5 BB T o & Tom m e xR
= % B . = | 8 BEy | e A = = |z | = & A
@ b s ® B s S - [T B | A& B ® g g BEBR X
" i Ao O O ® = G o & B @ ~ _ i
% *7? % m gl‘ gl“ i s ﬁ IE EE _ b =] = % = p==%
= B & = % ® # % 5 3 = = =
£ = = = ] = [ = n3 % n3 3 i 3 HE N ™
H BRBRAS BERBRES ® o Hg BB B ox @\ g g FE R OSE Lp CE g T e o= omy
= s i P & »Mm tE A A A A %A A HA 5 = O E b R ==
E #EFE ®BE YE BE =R #EE Y L of
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
. . . 061670
241 SRR 61620 wORAE-ITRE SR SIS
BEEs BROERS:EH EREFESR 1.1 1.1 03 7.0 7.0 4 0.0 0.0 00 00 1 0.0, 00 00 00 00 00 00 1.1 1 6 0 40 | 061680
241 pisd B 61630 EREESE —REE9 B 61690
Ll TREFREAR EEe S 3.1 3.1 27 11.4 7.9 5. 0.00 00 35 00 2 1.4 1.3 00 00 00 00 00 31 3 10 0 40 ¢
241 SE R A 61640 SEER S —EEEoS 61700
Ll Ll KEEe S 0.6 0.6 06 11.2 82 6 0.00 00 1.5 00 2 0.6f 00 00 00 02 00 00 00 1 2 0 40 0
= 4.8 4.8 3.6 200 1.3 00 00 02 00 00 42 5 18 0
. . Q61710
242 HE 61650 wORAE-ITRE —EEE1912
HEER BROERS:EH HEE = 1.8 1.8 1.5 18.0/ 9.0 6. 0.00 0.0 45 00 2 1.2 0.9 00 00 09 09 00 1.6 1 14 0 40 | 061720
& 1.8 1.8 1.5 1.2 0.9 00 00 09 09 00 1.6 1 14 0
. " 061730~
243 BT 61660 moREaEIREA S IR 4
HEEER BROERS:EHR FRERR 29 2.9 2.8 1271 6.5 6. 0.00 0.0 40 00 2 2.9/ 0.1 00 00 29 01 00 29 2 24 0 40 | 061750
243 EEHEY 61670 THERE —EE9E 61760
HEZER FRERS HEEe S 1.1 1.1 1.1 109 6.5 5 0.00 00 22 00 2 1.1 01 00 00 1.1 01 00 09 1 8 0 40 0
& 4.0 40 3.9 40 02 00 00 40 02 00 38 3 32 0
245 B 61680 BOREEITRA BRIAA 61770
Rks8 BROERS:E# ZRIABES 3.8/ 2.8 23 83 6.5 5. 0.00 00 1.8 00 2 000 00 00 00 00 00 00 27 2 16 0 40 ¢
& 3.8 2.8 2.3 000 00 00 00 00 00 00 27 2 16 0
246 18 g4t 15 61690 18 B4 —BEHE oS (KT - A 61780
NEEHLR NEEHL\RR BEEOS (RITEE - fE) 1.9 1.9 1.7 120 7.0/ 6 0.00 00 25 00 2 1.5 0.1 00 00 07 01 00 19 3 19 0 40 ¢
246 18t S C61700 —MEEOS (MTHEE - & —BEEE4 328 61790
NEEHIR KEESS (MILEH - A KEE4325 0.4 04 04 139 81 7T 00 00 35 00 2 0.3 02 00 00 01 01 00 04 2 3 0 0
& 2.3 2.3 2.1 1.8 0.3 00 00 08 02 00 23 5 22 0
247 i} # 61710 18t 4 —BEEE4 328 61800
NEEHIITRS NEEHLR KEE4328 2.3 0.4 04 11.4 7.0 6. 0.00 00 1.9 00 2 0.4 00 00 00 01 00 00 12 3 8 0 40 ¢
247 i} # 61720 —pEE4 328 —EEHE oS (KT - A 61810
NEEHHITRS KEEE4328 REESS GMLER-®E) . . 3 9 77 s 00 00 25 00 2 11 00 00 00 00 00 00 00 1 25 0 0
247 =] # 061730 —MEEOS (ML - @& —BEEOS 61820
NEEHIITRR BEESS (MLER - A KEEe S 0.4 01 01 124 48 3 00 00 20 00 1 0.1 00 00 00 00 00 00 00 1 4 0 0
2 54 1.8 1.8 1.6 0.0 00 00 01 00 00 1.2 5 37 0
248 5 # 61740 BORAEITERA —BEE4 328 61830
HElLR BROERS:EH KEE4325 0.7 0.7 06 7.0 7.0/ 5 0.00 00 00 00 2 000 00 00 00 00 00 00 00 0 7 0 30 0
= 0.7 0.7 0.6 000 00 00 00 00 00 00 00 0 7 0
249 i} =1 61750 iR AR =4 61840
NEEHLAES NEEHLE ARRHESR 6.7 55 45 126 7.0 6. 0.00 00 25 00 2 0.1 00 00 00 01 00 00 05 0 29 0 40 ¢
= 6.7 55 4.5 0.1 00 00 00 01 00 00 05 0 29 0
250 P TEST 61760 wORAE-ITRE 21— Q61850
e BROERS:EHA B — X 3.2 1.6/ 1.4 100 7.5 5. 0.00 00 25 00 2 0.8/ 01 00 00 00 00 00 32 0 8 0 40
250 T 61770 %)1|— AEET{EEISE Q61860
el - X8R TABEIFRSR 3.00 3.0 30 149 7.5 6. 0.00 00 27 00 2 1.0 00 00 00 01 00 00 30 2 7 0 50
. e . 061870
250 P TEST 61780 AEETIEHEISY MBS
e TABEIFRAR MFRER 3.6/ 3.6 3.3 126/ 6.6 6. 0.00 0.0 35 00 2 1.5 0.6 00 00 06 06 00 34 4 29 0 50 = 061880
& 9.8/ 82 1.7 3.3/ 07 00 00 07 06 00 96 6 44 0
252 # 61790 el B Q61890
XL HALR (8:8) HALS (1838 70 7.0 7.0 65 6.5 5. 0.00 00 00 00 2 000 00 00 00 00 00 00 00 0 14 0 60
252 # B 61800 Q61900
HALS (8:E) AR HALS 21 00 00 40 40 3 000 00 00 00 1 000 00 00 00 00 00 00 00 0 3 0 30

41



X MEERF R B B H % X B R 2 K K F AR .
# & &l ® & 8l 5 BE BR B% @R @b m®m @ BFOE
# . EORE 5% # K ®E b BE 5 BB T o & A A m e xR
. N _ = | g = = s o = 7 A
@ ] o B LB, & ®EO8 K . wE _E BE ' _® @ & & #x B EY
" i Ao O O ® = G o & B @ ~ _ i
% *7? % m gl‘ gl“ i s ﬁ IE EE _ b =] = % = p==%
= R #H = % ® & 2 % E T = = =
S jind N = = & = S Eg n3 v n3 3 L2 5 -
H BRBRAS BERBRES ® o Hg BB B ox @\ g g FE R OSE Lp CE g T e o= omy
= s i P & »Mm tE A A A A %A A HA 5 = O E b R ==
£E R ER YFE ER ERE EE Y L o%
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
& 9.1 7.0 1.0 0.00 00 00 00 00 00 00 00 0 17 0
. . 061910
253 S h UNEL S 61810 T VT EHRE
EHAER WIESRANR HITEHR 0.5, 0.5 0.5 205 11.7 65 00 00 38 00 2 0.5/ 0.5 00 00 05 05 00 05 4 4 0 40 | 061920
& 0.5 05 0.5 0.5, 05 00 00 05 05 00 05 4 4 0
254 21— R 61820 —REE 9 & —BEEIE (Im 61930
&)V~ REEOS KEESS (LaER) 2.5/ 25 25 160 90 60 00 1.5 35 00 2 2.5/ 25 00 00 24 24 00 00 1 6 0 50 ¢
254 21— R 61830 —BEEOE (IEd A E R 45 61940
&)V~ KEESS (LR EFER & 1.3 1.3/ 1.3 1100 7.5 6.0 00 00 35 00 2 1.3 1.3 00 00 00 00 00 00 0 7 0 30 ¢
254 21— R 61835 21) ) — R —BEEIE (IzE 61945
dE )V~ Ha By J— 8 KEESS (L#ER) 0.1 0.1 0.1 13.4 134 124 00 00 00 00 2 0.00 00 00 00 00 00 00 00 0 1 0 50 0
= 3.9 39 3.9 3.8/ 38 00 00 24 24 00 00 1 14 0
. 061950
255 M 61840 moREaEIREA o
EEMR BROERS:EH BREER 0.5, 0.5 05 120 7.0 60 00 00 1.5 0.0 2 0.5, 0.3 00 00 05 03 00 01 0 5 0 40 | 061960
255 i 61850 Zoss b —BEE1 918 61960
EEMR EREER KEE - 0.1 01 01 123 93 83 00 00 15 00 2 0.1 00 00 00 01 00 00 00 1 0 0 40 ¢
= 0.6 0.6 0.6 0.6 0.3 00 00 06 03 00 01 1 5 0
256 EiMEE 61860 i 61970
EENERR EENR HEFTR 1.9 1.9 1.9 150 7.5 6.0 00 00 50 00 2 1.9 1.5 00 00 01 01 00 00 0 12 0 60 ¢
= 1.9 1.9 1.9 1.9 1.5 00 00 01 01 00 00 0 12 0
. 061980
257 R Kb 61870 —BEE 4 3 28 e e 3T
HERRE BEE = mERRA 17.1 11.2) 7.7 12.5. 7.0/ 55 00 00 25 00 2 400 0.2 00 00 03 02 00 60 1 50 0 60 062000
257 LK s 61890 e R s 61990
fERRR TR HEHTER 0.4 00 00 35 35 25 00 00 00 00 1 0.00 00 00 00 00 00 00 00 1 1 0 50 ¢
257 R K ds 61880 REIEK —BEE S 62010
HERRA RRIEAAES EEe S 3.9 39 39 125 7.5 55 00 00 25 00 2 2.2/ 0.0 00 00 00 00 00 39 3 19 1 40 0
& 21.4 15.1 11.6 6.2/ 0.2 00 00 03 02 00 99 5 70 1
258 3 45 61900 LRAAA PR R E S 062020
RERER RRIEAAER BEFRERLER 0.1 01 01 80 80 65 00 00 00 00 2 0.00 00 00 00 00 00 00 00 0 3 0 60
258 3 45 61920 SRR E A SRR E S 062020
HEREH IBREFRERLE A BEFRERLER 8.8/ 47 41 125 15 60 00 00 25 00 2 3.00 0.3 00 00 00 00 00 30 0 12 0 60
258 3 45 61930 SRR E S —BEE4 328 062020
HERESR IBEEFRERLER EE - .1 1.1 1.1 100 7.5 6.0 00 00 25 00 2 1.1 00 00 00 00 00 00 11 0 1 0 60
258 3 45 61950 —BREE 4 3 28 TEH - BHERT 15 062030
RERER BEE = TR - RUBAT 5 41 2.8 0.8 50 50 40 00 00 00 00 1 0.00 00 00 00 00 00 00 1.1 0 4 0 60
258 3 45 61960 R¥ET - BHER 5 062030
HERESR TR - AURHT B REERR 0.2 00 00 40 40 30 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 1 0 60
258 3 45 61970 —BREE3 148 062040
RERER BEEER HEE = 0.6 00 00 64 47 30 00 00 1.7 00 1 0.00 00 00 00 00 00 00 00 0 3 0 40
2 14.9 87 6.1 41/ 0.3 00 00 00 00 00 52 0 24 0
. 062070~
259 # 61980 AT\ BOBEEITERE
R BILARRRNR BROERFIERR 7.5, 6.0 3.8 11.7 7.5 45 00 00 20 00 1 1.0 00 00 00 00 00 00 7.3 2 91 0 40 | 062090
= 7.5/ 6.0 3.8 1.0 00 00 00 00 00 00 7.3 2 91 0
s . . 062100~
260 ST 61990 —REE4 318 & 165
AEBENISR BEE = /TR L 9.2/ 89 7.5 11.3 7.0 55 00 00 35 00 2 4.3 2.3 0.0 00 1.1 1.1 00 00 4 95 0 40 | 062120
s . s 062130
260 ST 62020 B\ o SE TS
AEBENISR TR\ EERR LR AEEEIRIR 3.7 31 31 152 7.7 6.0 0.0 0.0 40 0.0 2 0.2/ 01 00 00 01 01 00 00 0 4 0 40 | 062170
260 ST 62030 SEUAY = B 1 062130
AEEENISR i/ \EERR L Ml EEFERRLER 28 28 28 160 90 60 00 15 35 00 2 28 1.6 00 00 28 1.6 00 28 4 15 0 40

42



X MEERF R B B H % X B R 2 K K F AR .
e S # = o $ B A% 6% m& ms @z @m KT OE
# . EORE 5% # K ®E b BE 5 BB T o & A A m e xR
. N _ = | g = = s o = 7 A
@ ] o B LB, & ®EO8 K . wE _E BE ' _® @ & & #x B EY
§ #h - F oL N = - | B t = & = = & B P - g
% *7? % m &B &b i s ﬁ IE EE _ b =] = % = =
=1 B # = % & & = % L E iE = = =1
% 13 . = = B = = | ¥ E E T ¥ ; :
H BRBRAS BERBRES ® o Hg BB B ox @\ g g FE R OSE Lp CE g T e o= omy
= s i P & »Mm tE A A A A %A A HA 5 = O E b R ==
£E R ER YFE ER ERE EE Y L o%
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
s - s . 062140~
260 SRS 62000 & BT E © A3
AEBENIIR T LEFERR LG HITESRFMR 1.2 1.2 1.2 140 90 60 00 00 35 00 2 1.2 0.3 00 00 05 03 00 12 6 7 0 40 | 062160
= 6.9/ 16.0 14.6 8.5 43 00 00 45 31 00 40 14 | 121 0
. . 062190
261 BT 62040 —REE4 318 —BEE S
BT TS BEE = KEEe S 1.3 1.3 07 1.1 65 55 00 00 23 00 2 0.8/ 0.0 00 00 07 00 00 1.3 5 16 0 40 | 062200
= 1.3 1.3 0.7 0.8 0.0 00 00 07 00 00 13 5 16 0
263 picd AT 5 62050 N AR —EEE 9B NTERS - AE 62210
TR BRTH WIARR REESS GANTER-®E) o o 0 123 76 55 00 00 25 00 2 0.7 01 00 00 01 01 00 1.3 2 12 0 0
263 SETYAR ST 062060 —BELEOE (MTHEEE - I R EE LS 62220
iR BRTH KEESS (MLER - Al ERERLS 33 33 33 170 80 65 00 00 45 00 2 33 32 00 00 1.9 19 00 28 1 20 0 0
= 4.8 48 4.3 40 33 00 00 20 20 00 41 3 32 0
s . . 062250
264 5 T4 62080 T B AR 4 AT
RETIIR WILEBRR HITEB=FMR 55 55 48 11.20 7.0 55 00 00 22 00 2 0.7 0.1 00 00 00 00 00 37 1 41 0 40 | 062270
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264 5 T4 62090 T —BEE4 312
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265 = 3 A 2 4 62100 —BEE 9 £ e 3 62290
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= 2.8/ 2.8 2.8 2.8/ 1.7 00 00 24 1.7 00 00 2 37 0
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RERBRER EEE431S IEATRR L 16 9.3 57 42 11.9 7.0 55 00 00 24 00 2 2.8/ 0.0 00 00 02 00 00 60 1 42 0 40 ¢
266 340 MR Bl 62120 BT 1= SEEKAIE 62310
RERBERR TERTRR L GRS 44 00 00 1.0 10 07 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 3 0 30 ¢
266 340 BT B i 62130 KB NS 62320
RERBERR aREKER HITEBXFMR 1.3 0.4 03 99 62 20 00 00 25 00 1 0.1 00 00 00 00 00 00 08 1 13 0 40 0
266 3 M B 62140 P B BRSNS 165 62330
RERBEER ABRBBRRR MERBNGR LR 1.7 1.7/ 1.7 80 65 55 00 00 08 00 2 0.6 0.0 00 00 06 00 00 00 0 2 0 40 ¢
& 6.7 7.8 6.2 3.5, 0.0 00 00 08 00 00 68 2 60 0
267 AR s 62150 T A RS R EE LS 62340
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267 AR s 62160 EEEEILS —BEE O S 062350
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ABRR# ABRR# 0.7 02 01 95 80 44 00 00 00 00 2 0.00 00 00 00 00 00 00 00 0 0 0 40
= 149 53 2.9 0.4 00 00 00 00 00 00 102 1 23 0
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= ERHER BROERS:EH B LFHE 47 35 22 170 9.0/ 40 00 00 40 00 1 1.0 0.9 00 00 00 00 00 00 0 13 0 30
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= ERHRR BELAFR w - RURET 5 13.00 7.1 50 84 50 30 00 00 25 00 1 0.8 0.0 00 00 03 00 00 95 0 16 0 30
269 EHEEES 62200 = - BHERT i ERHES 062380
= ERHER - BARAT & HERHER 3.6/ 1.5 1.3 50 50 30 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 3 0 30
& 2.3 12.1 8.5 1.8 09 00 00 03 00 00 95 0 32 0
270 E-REEIR 62210 —BEES 148 EEEE LG 062390
TRELE=AFREIHR BEE ~ AEEULS 900 9.0 90 95 70 55 00 00 25 00 2 0.4 0.2 00 00 00 00 00 24 1 18 0 60

43



X MEERF B B ¥ H % X B R 2 K K F AR .
# & &l ® & 8l 5 BE BR B% @R @b m®m @ BFOE
# . EORE 5% # K ®E b BE 5 BB T o & Tom m e xR
; % B . = | 8 BEy | e A = = |z | = & A
@ b s 5 ® B s S L - [T B | A& B ® g g BEBR X
#h - F oL N = - | B t = & = = & B P - g
% *7? % m &B &b i s ﬁ IE EE _ b =] = % = =
=1 B # = % & & = % L E iE = = =1
% 13 . = = B = = | ¥ E E T ¥ ; :
z BRBGES BHBRES # o mm W W R p sE T E PR el B R r D% B
= s i P & »Mm tE A A A A %A A HA 5 = O E b R ==
£E R ER YFE ER ERE EE Y L o%
(km) | (km) | (km) (m) (m) (m) (m) (m) (m) (m) (km) | Ckm) | (km) | (km) | (km) | (km) | (km) | (km) (km/h)
270 E-REEIR 62220 SR EELY —BEE3 148 62400
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271 B AR 62230 ERHEY Eh-E 1) 62410
RRARS HERHMESR t LS 40 30 19 7.0 7.0 55 00 00 O 0.0 2 0.00 00 00 00 00 00 00 40 0 7 0 60 0
271 o [E A R 62240 EH-E i —EEES5 48 62420
RIRRRR i - BEW & BEES 45 700 2.6 1.9 9.0 50 30 00 00 2 0.0 1 0.9 01 00 00 02 01 00 70 1 27 0 60 ¢
. 062430
271 R 62250 —BEES 48 R AL
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272 EHR=TIES 62270 BREE —BREES 48 62460
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275 ANEETIEEIS 62320 £)I|1— i 2 45 62500
TABEIFRESH BII— X8 Rk 3.1, 31 31 11.0 6.8 55 00 00 2 0.0 2 2.8/ 0.1 00 00 00 00 00 00 1 7 0 50 ¢
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SRIRLER BRITHUER (B8 NER 0.3 0.3 0.3 240 160 130 20 00 40 00 4 0.3 0.3 00 00 03 03 00 03 1 2 0 60 ¢
277 p =1 62430 B=IES p =4 i 62610
ERIRLER HE=ER SHTHUER (BE) 1.2 1.2 1.2 250 17.0 14.8/ 1.3 0.0 40 00 4 1.2 1.2 00 00 1.2 12 00 12 2 10 0 60 ¢
277 i =i 62440 ; Ei & ESH1015% 455 62620
ERIRUER BRIHEHER (B MRS 10158 Lk 0.7 07 0.7 253 17.3 160/ 1.3 0.0 40 00 4 0.7/ 0.7 00 00 07 07 00 07 4 4 0 40 ¢
277 p =1 62450 BEHT1015% 15 —BEE S 62620
FRIRHER WESHI015R L1 KEEe S 0.2 02 0.2 255 17.0 155 0.5 0.0 45 00 4 0.2/ 0.2 00 00 02 02 00 02 1 3 0 40 0
277 ; =i 62460 —EEEOS BESTHIRE T 5 62630
ERIRUER BEEOS RSN R TR L 0.3 03 03 250 17.0 153 0.8 0.0 40 00 4 0.3 0.3 00 00 03 03 00 03 1 4 0 40 ¢
277 i =1 62470 MAES i 4 i 62640
ERIRUER AHIARSR BRIHHER (@) 1.7 1.7 1.7 27.0/ 19.0 9.5 0.0 53 40 00 2 1.7 1.7 00 00 1.7 1.7 00 03 1 8 0 60 0
277 p =1 62480 i 4 p =45 62650
ERIRLER BRITAHLER FHITHHER 2.4/ 2.3 23 17.0 10.00 9.0, 0.0 0.0 35 00 2 1.4 1.0 00 00 1.4 10 00 23 6 20 0 40 ¢
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278 5T 62500 —EEE4318 21| E A 62670
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278 5T 62510 21| B A —BEEOS (HE/NA/S 62680
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278 5T 062520 —MREEOE (HE/N//IR EHS TS 262680
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= 2.8/ 2.8 2.5 1.5 1.5 00 00 1.5 15 00 28 6 30 1
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280 = B 1548 62540 —EEE1848 . 15 62710
R EEEBR BEE1845 BT - SEAT 5 7.8 1.4 04 40 40 30 00 00 00 00 1 000 00 00 00 00 00 00 21 1 8 0 30 ¢
280 = 2154 62550 . i = H IS4 62710
TR EFEBR feHir - S0 hEFRESHR 58 20 1.4 107 7.0 55 00 00 20 00 2 0.2 00 00 00 00 00 00 00 0 20 0 60 o
= 13.6) 3.4 1.8 0.2 00 00 00 00 00 00 21 1 28 0
281 z 62560 = B 15 4 =i - 5 62720
FBLOS EE N EEEAR T - XET % 56/ 46 0.7 50 50 40 00 00 00 00 1 0.00 00 00 00 00 00 00 51 0 4 0 60 ¢
281 g 62570 =7 - b 62720
FBLO®R BT - XEW ® REEER 4.4 44 0.2 60 60 40 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 2 0 60 ¢
= 10,0/ 9.0 0.9 0.00 00 00 00 00 00 00 51 0 6 0
283 EREEH 62580 RS EEIRE 455 62730
EREEHR RS MESRR LR 50 01 01 30 30 20 00 00 00 00 1 0.0, 00 00 00 00 00 00 00 0 4 0 40 ¢
283 EREEH 62590 = IR = EfH-E -3 62740
ERHER TESRR LEE wlm - BEm & 1.0 00 00 20 20 10 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 0 0 60 ¢
283 EREEH 62600 EH-E i el 45 262740
EREER mEm - BEm & TOMhIEE & R 1.8 00 00 21 21 1.1 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 0 0 60
283 EREEH 62610 BT TREER —BEES 48 262750
EREEHR BT RERR BEES 45 6.7 2.4 1.1 157 50 40 00 00 107 0.0 1 0.1 01 00 00 00 00 00 00 0 7 0 60
= 145 2.5 1.2 0.1 01 00 00 00 00 00 00 0 11 0
284 # 62630 —EEEOS = - 5 262770
BflPARS BEEEOS T - XET % 4.6 46 46 125 1.5 60 00 00 25 00 2 3.8/ 0.3 00 00 01 01 00 45 0 10 0 40
284 # 62640 = 1 3 =B 262780
BElPARS R - XEw ® BEAAFFEER 3.3 1.4 1.1 7.6 50 40 00 00 26 00 1 0.1 00 00 00 00 00 00 28 0 4 0 40
284 # 62650 b = B 5 4 =LA B 262780
BflPARS BEAFFEAE RLAER 7.3 0.3 03 40 40 30 00 00 00 00 1 000 00 00 00 00 00 00 00 0 2 0 60
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& 15.20 6.3 6.0 3.9 0.3 00 00 01 01 00 7.3 0 16 0
285 p # 62660 —BREE 9 & —BEE 9B 62790
BRAF & REEOS EEe S 6.6/ 6.5 3.8 10.1 6.4 55 00 00 1.7 00 2 3.8/ 0.7 00 00 01 01 00 65 4 30 1 40 ¢
& 6.6/ 6.5 3.8 3.8/ 0.7 00 00 01 01 00 65 4 30 1
286 p = 5 154 62670 SHRILAES 62800
BAAFFEAS TSR REEER 56/ 1.3 07 65 35 25 00 00 25 00 1 0.4 00 00 00 00 00 00 00 0 5 0 60 ¢
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286 ; =5 154 62680 —BEE S
BAAFFEAR RBEDRR KEEe S 11.6 3.7 33 58 35 25 00 00 1.3 00 1 0.0, 00 00 00 00 00 00 49 1 14 0 60 = 062820
286 ; = B 154 62690 —BEE 9 £ s 62830
CEAFFEAE BEEOS AFER 1.9 1.3 1.3 92 7.0 55 00 00 22 00 2 1.1 03 00 00 00 00 00 00 1 21 0 40 0
286 p =5 154 62700 s BOREEITRA 62830
BAAFFEAR AFER BROERFIERR 0.3 00 00 66 66 55 00 00 00 00 2 0.00 00 00 00 00 00 00 00 0 6 0 40 ¢
& 19.4 6.3 53 1.5 0.3 00 00 00 00 00 49 2 46 0
287 % =E 184 62710 —REE 9 & T3 EE I 62840
HHAFFEAE BEEOS MIERETRFERR 1.8 1.2/ 1.1 90 68 55 00 00 22 00 2 0.7/ 0.0 00 00 00 00 00 00 0 6 0 30 ¢
287 5 S Ei5 4 £62720 T3 2 H 154 : e T 62850
HHAFFEAE MITERETEEAR BEAFFEBE 3.1 22 22 162 15 60 00 00 35 00 2 1.1 0.8 00 00 00 00 00 00 0 33 0 30 ¢
& 4.9 3.4 3.3 1.8 0.8 00 00 00 00 00 00 0 39 0
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& 3.4 3.4 3.3 1.9 0.4 00 00 05 04 00 3.4 1 4 0
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289 | B +HIE eSS 62740 2T # WOREE-IFES
ANTHEFESR REHITHR BROERS:([H# 10.0 50 3.8 120 65 55 00 00 25 00 2 0.8/ 0.0 0.0 00 00 00 00 36 0 10 0 40 | 062880
= 10.0/ 5.0 3.8 0.8 0.0 00 00 00 00 00 36 0 10 0
290 EREE IR 62750 SR —BEE S 62890
RERBERESHR Cmamn KEEe S 3.2/ 0.3 01 60 35 25 00 00 25 00 1 0.1 00 00 00 00 00 00 00 0 2 0 60 ¢
290 EREEISs 62760 —iREE 9 & BOREEITRA 62900
AERBERSR BEEOS BROERFIERR 1.1 02 00 33 33 23 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 7 0 60 0
2 43 05 0.1 0.1 00 00 00 00 00 00 00 0 9 0
291 EMEXS 62770 I 5 62910
BRI RAXRE SRARAT - NIRRT 5 5.2 4.7 33 90 40 25 00 00 30 00 1 0.9 00 00 00 04 00 00 105 0 14 0 30 0
291 ENEXS 62780 )l 1 —EEES 62910
AlRI%8 ST - JIAHT R Caama .1 01 00 35 35 25 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 1 0 30 ¢
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AR %8 Cmamn HEE = 3.1 1.6 1.3 97 63 55 00 00 09 00 2 0.6 0.0 00 00 00 00 00 00 0 7 2 30
= 21.20 6.4 4.6 1.5 0.0 00 00 04 00 00 105 0 25 2
292 5 BAS 62810 = 5 B 062940
FaRAFRRS BEXMS FRAFATE 3.3 23 20 95 70 55 00 00 25 00 2 0.3 0.0 00 00 00 00 00 33 0 8 0 60
= 3.3 2.3 20 0.3 00 00 00 00 00 00 33 0 8 0
293 = R 62830 s EHEEHS 062960
R LR Sl =HERHR 52 52 49 100 75 60 00 00 25 00 2 49 22 00 00 00 00 00 46 0 20 0 60
& 5.2 5.2 4.9 49 22 00 00 00 00 00 46 0 20 0
062970
294 = 4 62840 = . 1
BESmE FEAFRS B0 - 2@ & 8.0 0.2 0.2 108 50 30 00 00 40 00 1 000 00 00 00 00 00 00 00 0 9 0 60 = 062980
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295 =ES 62890 a0 Rl || 1 | A4S 63010
BRIAR L - IR iR AR %S 2.1/ 1.0 04 48 35 25 00 00 13 00 1 0.1 00 00 00 00 00 00 00 0 5 1 40 ¢
= 225 6.7 3.3 0.5, 0.0 00 00 00 00 00 74 0 27 4
296 [ # 62900 e I . 5 63020
N8 Cmamn NIZHr - SRABET 5 3.00 00 00 30 30 20 00 00 00 00 1 0.00 00 00 00 00 00 00 00 0 3 0 60 ¢
296 [ # 62910 | . 5 —BEE3 758 63030
NI iy - SEAmAT AR KEE3 755 6.8 0.3 01 27 27 1.7 00 00 00 00 1 0.00 00 00 00 00 00 00 05 0 6 0 40 ¢
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297 £ 4 ST R4S 62920 —BEE2 6 18 B 63040
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297 £+ ST 4 62960 Vi) || A B 15 —BEE 9 S 063080
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297 £+ 5T 4 62970 —BREE 9 & WO T TR A 63090
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